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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2024. 

First Semester 

PRINCIPLES OF MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is management? 

 ÷©»õsø© GßÓõÀ GßÚ? 

2. Define the term planning. 

 vmhªkuÀ GÝ® £uzøu Áøμ¯ÖUP. 

3. What do you mean by span of control? 

 Pmk¨£õmiß Ãa_ £ØÔ }Ãº AÔÁx GßÚ? 

4. What is controlling? 

 Pmk¨£õk GßÓõÀ GßÚ? 

5. Define the term organizational behaviour. 

 {ÖÁÚ |hzøu GÝ® £uzøu Áøμ¯ÖUP. 

6. What is perception? 

 EnºuÀ GßÓõÀ GßÚ? 
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7. What do you mean by motivation? 
 FUP¨£kzxuÀ £ØÔ }Ãº AÔÁx GßÚ? 

8. What is group decision making? 
 SÊ •iöÁkzuÀ GßÓõÀ GßÚ? 

9. Trace the meaning of organizational culture. 
 {ÖÁÚ P»õa\õμzvØS ö£õ¸øÍz u¸P. 

10. Who is a change agent? 
 J¸ ©õØÖ •PÁº Gß£Áº ¯õº? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Explain the nature of management. 
  ÷©»õsø©°ß ußø©PøÍ ÂÍUSP. 

Or 

 (b) Bring out the various benefits of man power 
planning. 

  ©Ûu \Uv vmhªku¼ß £À÷ÁÖ |ßø©PøÍ u¸P. 

12. (a) What are the principles of departmentation? 
  xøÓ©¯©õUPzvß ÷Põm£õkPÒ ¯õøÁ? 

Or 

 (b) Enumerate the qualities of a good leadership. 
  J¸ |À» uø»ø©zxÁzvß uSvPøÍ GkzxøμUP. 

13. (a) Describe the theories of personality in brief. 
  BÐø©zvÓÛß ÷Põm£õkPøÍ _¸UP©õP ÂÁ›UP. 

Or 

 (b) List out the limitations of organizational behavior. 
  {ÖÁÚ |hzøu°ß SøÓ£õkPøÍ £mi¯¼kP. 
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14. (a) Explain the different stages of group formation. 

  SÊ E¸ÁõUPzvß öÁÆ÷ÁÖ {ø»PøÍ ÂÍUSP. 

Or 

 (b) Distinguish between formal group and informal 

group. 

  •øÓ¯õÚ SÊ ©ØÖ® •øÓ\õμõ SÊøÁ 
÷ÁÖ£kzxP. 

15. (a) Explain the contingency theories of leadership. 

  uø»ø©÷¯Ø¤ß uØö\¯À ÷Põm£õkPøÍ ÂÍUSP. 

Or 

 (b) Explain the various of interpersonal conflict. 

  J¸Á¸UöPõ¸Áº ÷©õu¾UPõÚ £À÷ÁÖ 
Põμn[PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various process of decision making. 

 •iöÁkzu¼ß £À÷ÁÖ ö\¯À•øÓPøÍ ÂÁ›UP. 

17. Explain the different types of leadership styles in brief. 

 uø»ø©zxÁzvß £À÷ÁÖ ÁøP¯õÚ £oPøÍ 
_¸UP©õP ÂÁ›UP. 

18. Explain the different process involved in perception. 

 Enºu¼À Ah[Q²ÒÍ £À÷ÁÖ ö\¯À•øÓPøÍ 
ÂÍUSP. 
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19. Bring out the characteristics of an effective team. 

 J¸ vÓø©¯õÚ SÊÂß Snõv\¯[PøÍ 
öÁÎUöPõnºP. 

20. Enumerate the different steps involved in negotiation 
process. 

 Ti P»¢x ÷£_uÀ ö\¯À£õmiÀ EÒÍ £À÷ÁÖ 
£i{ø»PøÍ PnUQkP. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2024. 

First Semester 

BUSINESS COMMUNICATION 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is meant by communication? 

 uPÁÀöuõhº¦ £ØÔ AÔÁx GßÚ? 

2. Write a short note on verbal communication. 

 Áõ´ö©õÈ uPÁÀöuõhºø£ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

3. What is external communication? 

 öÁÎ¨¦Ó uPÁÀöuõhº¦ GßÓõÀ GßÚ? 

4. What do you mean by downward communication? 

 RÌ÷|õUQ¯ uPÁÀöuõhº¦ £ØÔ }Âº AÔÁx GßÚ? 

5. Write a short note on circular. 

 _ØÓÔUøPø¯¨ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

6. Give the meaning of notice. 

 AÔÂ¨¦ Gß£uß ö£õ¸øÍ u¸P. 
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7. What is presentation? 
 ÂÍUPUPõm] GßÓõÀ GßÚ? 

8. Write about meeting. 
 Tmh® £ØÔ GÊxP. 

9. Write a short note on resume. 
 uØSÔ¨¦ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

10. Mention the main purpose of job interview. 
 ÷Áø» ÷|ºPõn¼ß •UQ¯ ÷|õUPzøu TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) What are the objectives of communication? 
  uPÁÀöuõhº¤ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) State the barriers of communication. 
  uPÁÀöuõhº¤ß uøhPøÍ SÔ¨¤hÄ®. 

12. (a) State the essentials of good style of writing. 
  |À» GÊzx |øh°ß Azv¯õÁ]¯[PøÍU TÓÄ®. 

Or 

 (b) Explain the channels of external communication. 
  öÁÎ¨¦Ó uPÁÀöuõhº¤ß ÁÇ[PÀPøÍ 

SÔ¨¤hÄ®. 

13. (a) What are the types of business letters? 
  ÁoP Piu[PÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Bring out the characteristics of a memo. 
  SÔ¨¤ß ]Ó¨¤¯À¦PøÍz u¸P. 
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14. (a) What are the steps to delivering a presentation? 

  ÂÍUPUPõm]ø¯ ÁÇ[SÁuØPõÚ £iPÒ ¯õøÁ? 

Or 

 (b) What are the importance of business meeting? 

  ÁoP Tmhzvß •UQ¯zxÁ[PÒ ¯õøÁ? 

15. (a) What are the contents of good resume? 

  J¸ |À» uØSÔ¨¤ß EÒÍhUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the process of job interview. 

  ÷Áø» ÷|ºPõn¼ß ö\¯À•øÓPøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of communication. 

 uPÁÀöuõhº¤ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

17. Describe the general principles of communication. 

 uPÁÀöuõhº¤ß ö£õxÁõÚ öPõÒøPPøÍ ÂÁ›UP. 

18. What are the steps involved in report writing? Explain. 

 AÔUøP GÊxÁvÀ Ah[Q²ÒÍ £iPÒ ¯õøÁ? 
ÂÍUSP. 

19. Discuss the various types of meeting. 

 Tmhzvß £À÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

20. Explain the different types of cover letters. 

 £À÷ÁÖ ÁøP¯õÚ ÷©¾øÓ Piu[PøÍ ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, DECEMBER 2024. 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by business environment? 

 ÁoPa `ÇÀ £ØÔ }Ãº AÔÁx GßÚ? 

2. Why is the global economic environment important? 

 E»P»õÂ¯ ö£õ¸Íõuõμa `ÇÀ Hß •UQ¯©õÚx? 

3. Define the socialistic economic system. 

 \‰P ö£õ¸Íõuõμ Aø©¨ø£ Áøμ¯ÖUP. 

4. Mention the various types of political systems. 

 Aμ]¯À Aø©¨¤ß £À÷ÁÖ ÁøPPøÍ SÔ¨¤kP. 

5. What is an intellectual property right? 

 AÔÄ\õº ö\õzx›ø© GßÓõÀ GßÚ? 

6. State any two functions of legal environment. 

 \mha `Ç¼ß £oPÎß H÷uÝ® CμsiøÚ TÖP. 
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7. Mention any two objectives of WTO. 

 WTOß ÷|õUP[PÎÀ H÷uÝ® CμsiøÚ TÖP. 

8. List out the major trading blocks. 

 •UQ¯ ÁºzuP öuõSvPøÍ £mi¯¼kP. 

9. State the causes for the poverty in India. 

 C¢v¯õÂÀ {»Ä® ÁÖø©UPõÚ Põμn[PøÍU TÖP. 

10. Why India is an emerging economy? 

 C¢v¯õ Hß ÁÍº¢x Á¸® ö£õ¸Íõuõμ©õP EÒÍx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Explain the significance of economic environment. 

  ö£õ¸Íõuõμ `Ç¼ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) Predict the cultural traits and their impact on 
business. 

  P»õa\õμ £s¦PÒ ©ØÖ® ÁoPzvÀ AÁØÔß 
uõUPzøu PoUPÄ®. 

12. (a) Enumerate the functions of an economic system. 

  J¸ ö£õ¸Íõuõμ Aø©¨¤ß £oPøÍ PnUQkP. 

Or 

 (b) Highlight the important role of foreign direct 
investment. 

  A¢{¯ ÷|μi •u½miß •UQ¯ £[øP 
GkzxUPõmkP. 
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13. (a) Analyse the positive and negative consequence of 
new economic policy. 

  ¦v¯ ö£õ¸ÍõuõμU öPõÒøP°ß ÷|º©øÓ ©ØÖ® 
Gvº©øÓ ÂøÍÄPøÍ £S¨£õ´Ä ö\´P. 

Or 

 (b) Elucidate the impacts of industrial policy on 
economic reforms in India. 

  C¢v¯õÂÀ ö£õ¸Íõuõμ ^ºv¸zu[PÎÀ öuõÈÀ 
öPõÒøP°ß uõUP[PøÍ öuÎÄ£kzxP. 

14. (a) Write the barriers to the social responsibility of 
business. 

  ÁoPzvß \‰P¨ ö£õÖ¨¤ØPõÚ uøhPøÍ GÊxP. 

Or 

 (b) Narrate the benefits of economic integration. 
  ö£õ¸Íõuõμ J¸[Qøn¨¤ß |ßø©PøÍ ÂÁ›UP. 

15. (a) What do you mean by public enterprises? Why are 
they needed in India? 

  ö£õx {ÖÁÚ[PÒ £ØÔ }Ãº AÔÁx GßÚ? AøÁ 
Hß C¢v¯õÂÀ ÷uøÁ¯õQÓx? 

Or 

 (b) Specify the importance of co-operative sector for 
India. 

  C¢v¯õÂ¾ÒÍ TmkÓÄz xøÓ°ß 
•UQ¯zxÁzøuU SÔ¨¤kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the internal and external factors of a business 
environment. 

 ÁoP `Ç¼ß EÒ ©ØÖ® öÁÎ¨¦Ó PõμoPøÍ 
ÂÍUSP. 
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17. What is the need for financial institutions? Explain its 
role. 

 {v {ÖÁÚ[PÎß ÷uøÁ GßÚ? AuÝøh¯ £[QøÚ 
ÂÍUSP. 

18. Critically assess the economic role of government in 
detail. 

 Aμ\õ[Pzvß ö£õ¸Íõuõμ¨ £[QøÚ Â›ÁõP ©v¨¤kP. 

19. Explain the liberalization, privatization and globalization 
(LPG), and their impact on the Indian economy. 

 uõμõÍ©¯©õUPÀ, uÛ¯õº©¯©õUPÀ ©ØÖ® 
E»P©¯©õUPÀ (LPG) ©ØÖ® C¢v¯¨ ö£õ¸ÍõuõμzvÀ 
AÁØÔß uõUPzøu ÂÍUSP. 

20. Examine the formation and advantages of joint-sector 
enterprises. 

 Tmkz xøÓ {ÖÁÚ[PÎß E¸ÁõUP® ©ØÖ® 
|ßø©PøÍ Bμõ´P. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2024. 

First Semester 

FINANCIAL ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is book-keeping? 

 PnUS øÁ¨¦ GßÓõÀ GßÚ? 

2. State the functions of trial balance. 

 C¸¨£õ´Âß £oPøÍ SÔ¨¤hÄ®. 

3. What is suspense account? 

 AÚõ©zx PnUS GßÓõÀ GßÚ? 

4. State the objectives of profit and loss account. 

 C»õ£ |mhU PnUQß ÷|õUP[PøÍU SÔ¨¤hÄ®. 

5. What is trade bill? 

 ÁºzuP Esi¯À GßÓõÀ GßÚ? 

6. Define “Bill of exchange”. 

 ‘‘©õØÖa^mk’’ Áøμ¯ÖUPÄ®. 
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7. What is goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

8. Define partnership. 
 Tmhõsø©ø¯ Áøμ¯ÖUP. 

9. Write a short note on “Call in arrear”. 

 ‘‘AøÇ¨¦ {¾øÁ’’ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

10. What is meant by Under subscription? 
 SøÓ J¨£® £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) What are business transactions? 
  Â¯õ£õμ |hÁiUøPPÒ Gß£Ú ¯õøÁ? 

Or 

 (b) (i) Purchased goods for Rs. 1,500 

  (ii) Purchased goods from Jeyam Stores for 
Rs.1,000 

  (iii) Sold goods to Raju for Rs. 500 

  (iv) Raju returned goods worth Rs. 100 

  (v) Paid rent Rs. 300. 

   Give journal entries.  

  (i) ö£õ¸mPøÍ öPõÒ•uÀ ö\´ux ¹. 1500 

  (ii) ö£õ¸mPøÍ öá¯® Pøh°¼¸¢x Áõ[Q¯x 
¹. 1000 

  (iii) μõáúÄUS ö£õ¸mPøÍ ÂØÓx ¹. 500 

  (iv) μõáú ¹. 100 ©v¨¦ÒÍ ö£õ¸mPøÍ v¸¨¤ 
öPõkzuõº 

  (v) ÁõhøP ö\¾zu¨£mhx ¹. 300 
   SÔ¨÷£k £vÄPøÍ u¸P. 
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12. (a) Prepare trial balance from the following : 

 Rs.  Rs. 

Capital 9,000 Rent outstanding 1,000

Plant and machinery 12,000 Opening stock 2,000

Purchases 8,000 Sales returns 4,000

Sales 12,000 Investments 14,000

Creditors 8,000 Debtors 12,000

Bank loan 22,000   

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x C¸¨£õ´ÂøÚ u¯õº 
ö\´¯Ä®. 

 ¹.  ¹. 

•uÀ 9,000 {¾øÁ ÁõhøP 1,000

ö£õÔ ©ØÖ® C¯¢vμ[PÒ 12,000 xÁUP \μUQ¸¨¦ 2,000

öPõÒ•uÀ 8,000 ÂØ£øÚ v¸¨£® 4,000

ÂØ£øÚ 12,000 •u½kPÒ 14,000

PhÜ¢÷uõº 8,000 PhÚõÎPÒ 12,000

Á[Q Phß 22,000   

Or 

 (b) What are the different types of errors? Explain. 

  £À÷ÁÖ ÁøP¯õÚ ¤øÇPÒ ¯õøÁ? ÂÍUSP. 

13. (a) Ram owes Rs. 2,000 to Ganapathi, On 1.6.2021 he 
sent his acceptance for the amount for 3 months. 
Assuming that the bill was dishonored on maturity 
and that Rs. 10 had to be paid as noting charges. 
Give journal entries in the books of Ganapathi. 
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  μõ©º Pn£vUS ¹. 2,000 öPõkUP ÷Ási²ÒÍx. 
01.06.2021 AßÖ öuõøPUPõP AÁº 3 
©õu[PÐUPõÚ HØø£ AÝ¨¤Úõº. •vºa]°À 
Esi¯»õÚx AÁ©vUP¨£mhuõPU P¸v. SÔ¨¦U 
Pmhn©õP ¹. 10 ö\¾zu ÷Ásk® Pn£v°ß 
¦zuP[PÎÀ SÔ¨÷£k £vÄPøÍ u¸P. 

Or 

 (b) How will you prepare Bank reconciliation 
statement? 

  Á[Q \›Pmk® £mi¯ø» GÆÁõÖ u¯õ›¨¥ºPÒ? 

14. (a) A and B are partners sharing profit in the ratio of 
3:2. “C” is admitted with 1/3 share in the profit. 
Calculate new ratio and sacrificing ratio. 

  A ©ØÖ® B  3:2 GßÓ ÂQuzvÀ »õ£zøu¨ £Qº¢x 
öPõÒÐ® TmhõÎPÒ. AÁºPÒ ‘‘C’’ Gß£Áøμ  
»õ£zvÀ 1/3 £[QØS ÷\ºUP¨£mhõº. ¦v¯ 
ÂQuzøu²®, v¯õP ÂQuzøu²® PnUQhÄ®. 

Or 

 (b) Write short notes on joint life policy. 
  Tmk ÁõÌUøP vmhõÁÚzøu £ØÔ ]Ö SÔ¨¦ 

ÁøμP. 

15. (a) ABC limited issues application for 20,000 equity 
shares of Rs. 10 each, payable as follows, on 
application Rs. 3, on allotment Rs. 3, on first and 
final call Rs. 2 each. The company received all the 
money towards the shares. Pass journal entries. 

  ABC ¼ªöhm 20,000 \©{ø» £[SPÒ 
JÆöÁõßÖ® ¹. 10 Ãu® ¤ßÁ¸©õÖ 
ö\¾zxÁuØS öÁÎ°h¨£mhx. Âsn¨£zvÀ  
¹. 3, JxURmiÀ ¹. 3, •uÀ ©ØÖ® CÖv 
AøÇ¨¤ß ÷£õx u»õ ¹. 2. A¢{Ö©® AøÚzx¨ 
£nzøu²® £[SPÍõP¨ ö£ØÓx. SÔ¨÷£mk 
£vÄPøÍ u¸P. 

Or 

 (b) What are the sources of capital redemption reserve? 
  ‰»uÚ «m¦ C¸¨¤ß Buõμ[PÒ ¯õøÁ? 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Enumerate the types of accounting conventions. 

 PnUQ¯À ©μ¦PÎß ÁøPPøÍU PnUQhÄ®. 

17. From the following particulars, prepare trading, profit 
and loss account and balance sheet as on 31.03.2021. 

Particulars Debit 
Rs. 

Credit 
Rs. 

Sales  4,40,000

Purchases 1,05,000 

Printing charges 2,500 

Wages 97,500 

Salaries 12,500 

Opening stock 2,25,000 

General expenses 26,250 

Carriage inwards 8,800 

Trade marks 5,000 

Rates and taxes 2,500 

Capital  1,74,800

Discount received  1,250

Loan  1,75,000

Buildings 2,00,000 

Furniture 25,000 

Machinery 50,000 

Cash in hand 1,000 

Cash at bank 30,000 

 7,91,050 7,91,050
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 Adjustment : 

 (a) Closing stock Rs. 3,20,000 

 (b) Outstanding salaries Rs. 10,000 

 (c) Prepared rates and taxes Rs. 500 

 (d) Provide 10% depreciation on buildings and 
furniture. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31.03.2021 AßÖ Â¯õ£õμ, 
C»õ£ ©ØÖ® |mh PnUS ©ØÖ® C¸¨¦{ø» SÔ¨ø£ 
u¯õº ö\´¯Ä®. 

ÂÁμ[PÒ £ØÖ ¹. ÁμÄ ¹.
ÂØ£øÚ 4,40,000
öPõÒ•uÀ 1,05,000
Aa]k® Pmhn® 2,500
T¼ 97,500
\®£Í® 12,500
Bμ®£ \μUQ¸¨¦ 2,25,000
ö£õx ö\»ÄPÒ 26,250
EÒyUSU T¼ 8,800
ÁºzuP •zvøμPÒ 5,000
ÂQu[PÒ ©ØÖ® Á›PÒ 2,500
•uÀ 1,74,800
uÒÐ£i ö£Ó¨£mhx 1,250
Phß 1,75,000
Pmih[PÒ 2,00,000
AøÓP»ß 25,000
C¯¢vμ[PÒ 50,000
øP°¸¨¦ öμõUP® 1,000
Á[Q öμõUP® 30,000
 7,91,050 7,91,050

 \›UPmkuÀPÒ : 

 (A) CÖv \μUQ¸¨¦ ¹. 3,20,000 

 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 10,000 

 (C) •ßTmi ö\¾zv¯ ÂQu[PÒ ©ØÖ® Á›PÒ ¹. 500 

 (D) Pmih® ©ØÖ® AøÓP»ß «x 10% ÷u´©õÚ® 
E¸ÁõUSP. 
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18. From the following particulars, prepare bank 
reconciliation statement. 

 (a) Bank overdraft as per cash book Rs. 5,000 

 (b) Cheque deposited but not collected Rs. 600 

 (c) Bills discounted dishonoured debited only in the 
pass book Rs. 1,000 

 (d) Insurance premium paid by the bank not entered in 
the cash book Rs. 100 

 (e) Undercast of debit side of cash book by Rs. 100 

 (f) Bank charges of Rs. 20 entered in the pass book 
twice. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, Á[Q \›Pmk® £mi¯ø» 
u¯õ›UPÄ®. 

 (A) öμõUP Hmiß £i Á[Q ÷©ÀÁøμ¨£ØÖ ¹. 5,000 

 (B) Põ÷\õø» Á[Q°À ö\¾zv²® Á`¼UP¨£mhõuøÁ 
¹. 600 

 (C) AÁ©vUP¨£mh uÒÐ£i ö\´¯¨£mh Esi¯À 
ö\À÷»miÀ ©mk® £ØÖ øÁUP¨£mhx ¹. 1,000 

 (D) Á[Q¯õÀ ö\¾zu¨£mh Põ¨¥mk •øÚ©® ¹. 100 
öμõUP HmiÀ £v¯¨ ö£ÓÂÀø» 

 (E) öμõUP Hmiß £ØÖ¨ £UPzvÀ ¹. 100 SøÓÁõP 
Põmh¨£mkÒÍx 

 (F) Á[Q Pmhn® Cμsk •øÓ ö\À÷»miÀ 
£v¯¨£mhx ¹. 20. 

19. P, Q and R sharing profits and losses in the ratio of 5:3:2 
and took out a joint life policy for Rs. 15,000 paying an 
annual premium of Rs. 600 starting from April 10, 2017. 
The surrender value of the policy was as follows : 

  2017 – Nil; 2018 – Rs. 200; 2019 – Rs. 500;  
2020 – Rs. 850. 

 “Q” died on 6/10/2021 and Rs. 15,600 was received as the 
policy amount on 10/10/2021. The book of the firm was 
closed on 31st December every year. Journalise and show 
the joint life policy account for all the years.  
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 P, Q ©ØÖ® R 5:3:2 GßÓ ÂQuzvÀ »õ£® ©ØÖ® 
|mh[PøÍ¨ £Qº¢x öPõsk, H¨μÀ 10, 2017 •uÀ  
¹. 600 Á¸hõ¢vμ •øÚ©zøu ö\¾zv ¹. 15,000US 
Tmk B²Ò vmhõÁnzøu GkzuÚº. vmhõÁnzvß 
J¨£øhÄ ©v¨¦ ¤ßÁ¸©õÖ C¸¢ux. 

  2017 – Nil; 2018 – ¹. 200; 2019 – ¹. 500;  
2020 – ¹. 850. 

 “Q” 6/10/2021 AßÖ CÓ¢uõº ©ØÖ® 10/10/2021 £õ¼] 
öuõøP¯õP ¹. 15,600 ö£Ó¨£mhx. {ÖÁÚzvß HkPÒ 
JÆöÁõ¸ Bsk® i\®£º 31 AßÖ •iUP¨£kQÓx. 
SÔ¨÷£mk £vÄ ©ØÖ® AøÚzx BskPÐUPõÚ Tmk 
B²Ò vmhõÁn PnUøP u¸P. 

20. A limited company issued 10,000 shares of Rs. 20 each 
with a premium of Rs. 2 per share is as follows : 

 On application – Rs.3 
 On allotment – Rs.8 (including 2 premium) 
 On I call  – Rs.6 
 On Final call – Rs.5 

 Applications were received for 10,000 shares. All moneys 
were received except the first and final call on 400 shares 
failed to pay the amount. These shares were forfeited and 
300 of these subsequently re-issued at Rs. 20 per share 
fully paid up. Show the journal entries.  

 J¸ ¼ªöhm {ÖÁÚ® 10,000 £[SPøÍ ¹. 20 Ãu® J¸ 
£[QØS ¹. 2 •øÚ©zxhß ¤ßÁ¸©õÖ öÁÎ°mhx. 

 Âsn¨£zvß ÷£õx – ¹. 3 
 JxURmiß ÷£õx – ¹. 8 (2 •øÚ©® Em£h) 
 •uÀ AøÇ¨¤ß ÷£õx – ¹. 6 
 CÖv AøÇ¨¤ß ÷£õx – ¹. 5  

 10,000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mhÚ 400 
£[SPÐUPõÚ •uÀ ©ØÖ® CÖv AøÇ¨ø£z uÂμ  
AøÚzx¨ £n•® ö£Ó¨£mhx. C¢u¨ £[SPÒ £Ô•uÀ 
ö\´¯¨£mhÚ. ¤ßÚº 300 £[SPÒ •Êø©¯õP 
ö\¾zu¨£mh J¸ £[QØS ¹. 20 Ãu® «sk® 
©ÖöÁÎ±k ö\´¯¨£mhÚ. SÔ¨÷£mk £vÄPøÍ u¸P. 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2024. 

Second Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is financial management? 

 {v ÷©»õsø© GßÓõÀ GßÚ? 

2. State the basic objectives of financial management. 

 {v ÷©»õsø©°ß Ai¨£øh ÷|õUP[PøÍU TÖP. 

3. Indicate the objectives of capital budgeting. 

 ‰»uÚ vmhªku¼ß ÷|õUP[PøÍU SÔ¨¤hÄ®. 

4. What is meant by operating leverage? 

 C¯UP ö|®¦÷PõÀ £ØÔ AÔÁx GßÚ? 

5. State the patterns of capital structure. 

 ‰»uÚ Pmhø©¨¤ß ÁiÁ[PøÍU TÖP. 

6. What is payback period method? 

 v¸¨¤a ö\¾zx® Põ» •øÓ GßÓõÀ GßÚ? 

Sub. Code 
10221/12321/

0221 



D–6229 
  2

7. Define dividend policy. 

 DÄzöuõøP öPõÒøPø¯ Áø¯ÖUP. 

8. What do you understand by short term finance? 

 SÖQ¯ Põ» {v £ØÔ }[PÒ GßÚ ¦›¢xöPõÒQÕºPÒ? 

9. Define credit policy. 

 Phß öPõÒøPø¯ Áøμ¯ÖUP. 

10. What is a lock-box? 

 §mk¨ ö£mi GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Write a note on “Profit maximization”. 

  ‘‘»õ£zøu AvP›¨£x’’ SÔzx J¸ SÔ¨ø£ GÊxP. 

Or 

 (b) List out the reasons for time preference of money. 

  £nzvß ÷|μ Â¸¨£zvØPõÚ Põμn[PøÍ 
£mi¯¼kP. 

12. (a) Compare operating leverage with financial leverage. 

  C¯UP ö|®¦÷Põø» {v{ø» ö|®¦÷Põ¾hß 
J¨¤kP. 

Or 

 (b) What are the components of cost of capital? 

  ‰»uÚ ö\»Âß EÒÍhUP[PÒ ¯õøÁ? 
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13. (a) Briefly explain various theories of capital structure. 
  ‰»uÚ Pmhø©¨¤ß £À÷ÁÖ ÷Põm£õkPøÍ 

_¸UP©õP ÂÍUPÄ®. 

Or 

 (b) State the advantages of capital budgeting. 
  ‰»uÚ ÁμÄ ö\»Äz vmhzvß |ßø©PøÍU 

SÔ¨¤hÄ®. 

14. (a) What are the objectives of dividend policy? 
  DÄzöuõøP öPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) State the purposes served by short term finance. 
  SÖQ¯ Põ» {v ÁÇ[P¨£kÁuß ÷|õUP[PøÍU 

SÔ¨¤hÄ®. 

15. (a) Write down the motives for holding cash. 
  £nzøu øÁzv¸¨£uØPõÚ ÷|õUP[PøÍ GÊxP. 

Or 

 (b) What are the limitations of excessive working 
capital? 

  AvP©õÚ |øh•øÓ ‰»uÚzvß SøÓ£õkPÒ 
¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various types of budgets. 
 £À÷ÁÖ ÁøP¯õÚ vmh£mi¯ø» ÂÁ›UP. 

17. Critically examine the net income approach and net 
operating income approach to capital structure. 

 ‰»uÚ Pmhø©¨¤ØPõÚ {Pμ Á¸©õÚ AqS•øÓ 
©ØÖ® {Pμ C¯UP Á¸©õÚ AqS•øÓø¯ 
Â©º\ÚŸv¯õP Bμõ´P. 
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18. How is the degree of financial leverage measured? Give 
example. 

 {v ö|®¦÷Põ¼ß AÍÄ GÆÁõÖ AÍÂh¨£kQÓx? 
Euõμn® u¸P. 

19. Distinguish between bank overdraft and cash credit. 

 Á[Q ÷©ÀÁøμ£ØÖ ©ØÖ® öμõUPU Phß BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

20. Explain the various factors influencing working capital. 

 |øh•øÓ ‰»uÚzøu £õvUS® £À÷ÁÖ PõμoPøÍ 
ÂÍUSP. 

  

———————— 



  

D–6230     

DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2024. 

Second Semester 

HUMAN RESOURCE MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define the term human resource management. 

 ©Ûu ÁÍ ÷©»õsø© GÝ® £uzøu Áøμ¯ÖUP. 

2. What is personnel management? 

 £o¯õÍº ÷©»õsø© GßÓõÀ GßÚ? 

3. What is meant by job analysis? 

 ÷Áø» £S¨£õ´Ä £ØÔ AÔÁx GßÚ? 

4. What do you mean by selection? 

 ÷uº¢öukzuÀ £ØÔ }Âº AÔÁx GßÚ? 

5. Trace the meaning of induction. 

 yshÀ Gß£uß ö£õ¸øÍz u¸P. 

6. What is meant by craft training? 

 øPÂøÚ £°Ø] £ØÔ AÔÁx GßÚ? 
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7. What are perquisites? 

 ªøP Fv¯® Gß£Ú ¯õøÁ? 

8. State any two features of incentive plans. 

 FUPzöuõøP vmhzvß H÷uÝ® Cμsk A®\[PøÍ 
TÖP. 

9. What is counseling? 

 B÷»õ\øÚ GßÓõÀ GßÚ? 

10. Define labour relations. 

 öuõÈ»õÍº EÓÄPøÍ Áøμ¯ÖUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) State the objectives of human resource 
management. 

  ©Ûu ÁÍ ÷©»õsø©°ß ÷|õUP[PøÍU TÖP. 

Or 

 (b) State the qualities of a human resource manager. 

  ©Ûu ÁÍ ÷©»õÍ›ß Sn[PøÍU TÖP. 

12. (a) List out the merits of external sources of 
recruitment. 

  BÒ ÷\ºzu¼ß öÁÎ ‰»[PÐUPõÚ |ßø©PøÍ 
£mi¯¼kP. 

Or 

 (b) What are the advantages of centralized selection? 

  ø©¯¨£kzu¨£mh ÷uº¢öukzu¼ß |ßø©PÒ 
¯õøÁ? 
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13. (a) What are the benefits of training? 
  £°Ø]°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the objectives of performance appraisal.  
  ö\¯ÀvÓß ©v¨¥miß ÷|õUP[PøÍU SÔ¨¤kP. 

14. (a) Bring out the objective of fringe benefits. 
  TkuÀ£i |ßø©PÎß ÷|õUP[PøÍ 

öÁÎUöPõnºP.  

Or 

 (b) What are the merits and demerits of incentive 
plans? 

  FUPzöuõøP vmhzvß |ßø©PÒ ©ØÖ© wø©PÒ 
¯õøÁ? 

15. (a) Discuss the importance of labour relations. 
  öuõÈ»õÍº EÓÄPÎß •UQ¯zxÁzøu ÂÁõvUP. 

Or 

 (b) Explain the various causes of employee grievances. 
  öuõÈ»õÎ°ß ©ÚUSøÓUPõÚ £À÷ÁÖ 

Põμn[PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various functions of human resource 
management. 

 ©Ûu ÁÍ ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÍUSP. 

17. Describe briefly the various steps involved in the 
selection process. 

 ÷uº¢öukzuÀ £i•øÓ°¾ÒÍ £À÷ÁÖ £i{ø»PøÍ 
_¸UP©õP ÂÁõvUPÄ®. 
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18. Describe the various methods for appraising performance 
of employees. 

 £o¯õÍºPÎß ö\¯ÀvÓøÚ ©v¨¤kÁuØPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÁ›UP. 

19. Enumerate the various methods of wage payments. 

 T¼ ö\¾zxÁvÀ EÒÍ £À÷ÁÖ •øÓPøÍ GkzxøμUP. 

20. Explain the various steps of employee empowerment 
process in organization. 

 {ÖÁÚzvß £o¯õÍº AvPõμ©ÎUS® ö\¯À•øÓ°ß 
£À÷ÁÖ £iPøÍ ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, DECEMBER 2024. 

Second Semester 

MARKETING MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is marketing environment? 

 \¢øu°¯¼ß `ÇÀ GßÓõÀ GßÚ? 

2. Infer the term micro marketing. 

 ]Ô¯ AÍÂ»õÚ \¢øu°¯À GßÓ ö\õÀø» AÝ©õÛUP. 

3. What is marketing mix? 

 \¢øu°¯À P»øÁ GßÓõÀ GßÚ? 

4. What is marketing planning? 

 \¢øu°¯À vmhªkuÀ GßÓõÀ GßÚ? 

5. State any two importance of branding. 

 Â¯õ£õμSÔ°ß H÷uÝ® Cμsk •UQ¯zxÁzøu TÖP. 

6. What do you mean by price determination? 

 Âø»ø¯ {ºn¯®ö\´uÀ £ØÔ AÔÁx GßÚ? 
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7. Define sales promotion. 

 ÂØ£øÚ ö£¸UPzøu Áøμ¯ÖUP. 

8. Give the meaning of online marketing. 

 Cøn¯ÁÈ \¢øu°¯¼ß ö£õ¸øÍ u¸P. 

9. What do you understand by service marketing? 

 ÷\øÁ \¢øu°¯ø» £ØÔ }Ãº AÔÁx GßÚ? 

10. What is relationship marketing? 

 EÓÄ•øÓ \¢øu°¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) State the advantages of marketing. 

  \¢øu°ku¼ß |ßø©PøÍ TÖP. 

Or 

 (b) What are the features of modern marketing? 

  uØPõ» \¢øu°¯¼ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

12. (a) What are the factors to be considered while 
introducing a new product in a market? 

  J¸ ¦v¯ ö£õ¸øÍ \¢øu°À AÔ•P® ö\´²® 
÷£õx P¸zvÀ öPõÒÍ ÷Ási¯ PõμoPÒ ¯õøÁ? 

Or 

 (b) Explain about grading of goods. 

  ö£õ¸ÒPøÍ ÁøP¨£kzxuÀ £ØÔ ÂÁ›UP. 
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13. (a) State the objectives of pricing. 

  Âø»°ku¼ß ÷|õUP[PøÍU TÖP. 

Or 

 (b) Discuss the importance of advertising in modern 
business. 

  |ÃÚ ÁoPzvÀ ÂÍ®£μzvß •UQ¯zxÁzøu 
ÂÁõvUP. 

14. (a) Explain briefly the importance of sales promotion in 
marketing. 

  \¢øu°ku¼À ÂØ£øÚ ÷©®£õmiß 
•UQ¯zxÁzøu _¸UP©õP ÂÁ›UP. 

Or 

 (b) Briefly explain the various types of retailers. 

  ]À»øÓ ÂØ£øÚ¯õÍ›ß £À÷ÁÖ ÁøPPøÍ 
_¸UP©õP ÂÍUSP. 

15. (a) Explain the criteria for market segmentation. 

  \¢øu¨ £õS£õmiØPõÚ uSvPøÍ ÂÍUSP. 

Or 

 (b) Explain the various types of customers. 

  ÁõiUøP¯õÍºPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the important function of marketing. 

 \¢øu°ku¼ß •UQ¯¨ £oPøÍ ÂÁ›UP. 

17. Explain the various dimensions of product mix. 

 ö£õ¸m P»øÁ°ß £À÷ÁÖ £›©õn[PøÍ ÂÍUSP. 
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18. Explain the different kinds of pricing policies. 

 £À÷ÁÖ ÁøP¯õÚ Âø»U öPõÒøP°øÚ ÂÍUSP. 

19. Explain the various types of channels of distribution. 

 ÁÇ[PÀ ÁÈ•øÓ°ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

20. Explain the various approaches of market segmentation. 

 \¢øu £õS£õmiß £À÷ÁÖ AqS•øÓPøÍ ÂÍUSP. 

  

———————— 



  

D–6232     

DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, DECEMBER 2024. 

Second Semester 

MERCANTILE LAW 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by business law? 

 ÁoPa \mh® £ØÔ }Âº AÔÁx GßÚ? 

2. Write a short note on breach of contract. 

 J¨£¢uzøu «ÖÁx SÔzx J¸ ]Ö SÔ¨ø£ GÊxP. 

3. How bill of exchange is classified? 

 ©õØÖ^mk GÆÁõÖ ÁøP¨£kzu¨£kQÓx? 

4. What is dissolution of partnership? 

 Tmhõsø© Pø»¨¦ GßÓõÀ GßÚ? 

5. What is consumer redressal agencies? 

 ~Pº÷Áõº wºÄ •Pø©PÒ GßÓõÀ GßÚ? 

6. What is meeting? 

 Tmh® GßÓõÀ GßÚ? 

Sub. Code 
10224/0224 



D–6232 
  2

7. What is trade mark? 
 ÁºzuP •zvøμ GßÓõÀ GßÚ? 

8. Define environment. 
 _ØÖa`Çø» Áøμ¯ÖUP. 

9. What do you mean by Cyber laws? 
 ø\£º \mh[PÒ £ØÔ }Âº AÔÁx GßÚ? 

10. What is digital signature? 
 C»UP•øÓ øPö¯õ¨£® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Write down the essential features of contract. 
  J¨£¢uzvß Azv¯õÁ]¯ A®\[PøÍ GÊxP. 

Or 

 (b) Describe the remedies for breach of contract. 
  J¨£¢u «Ó¾UPõÚ wºÄPøÍ ÂÁ›UPÄ®. 

12. (a) What are the rights and duties of buyer? 
  Áõ[S£Á›ß E›ø©PÒ ©ØÖ® Phø©PÒ ¯õøÁ? 

Or 

 (b) List out the contents of partnership deed. 
  Tmhõsø© £zvμzvß EÒÍhUP[PøÍ 

£mi¯¼kP. 

13. (a) Briefly explain the different types of company 
meetings. 

  {Ö© Tmhzvß öÁÆ÷ÁÖ ÁøPPøÍ _¸UP©õP 
ÂÍUSP. 

Or 
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 (b) Distinguish between the FERA and FEMA. 

  FERA ©ØÖ® FEMA øÁ ÷ÁÖ£kzxP. 

14. (a) What are the advantages of patent rights? 

  Põ¨¦›ø© E›ø©PÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) List out the exceptions to infringement under the 
Indian Patent Act. 

  C¢v¯ Põ¨¦›ø©a \mhzvß RÌ «Ó¾UPõÚ 
ÂvÂ»USPøÍ¨ £mi¯¼kP. 

15. (a) What are the objectives of cyber laws? 

  ø\£º \mh[PÎß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Write short notes on (i) e-commerce  
(ii) e-governance. 

  ]Ö SÔ¨¦ (i) ªß ÁoP® (ii) ªß BÐø©. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various kinds of agents. 

 £À÷ÁÖ ÁøP¯õÚ •PÁºPøÍ ÂÁõvUPÄ®. 

17. Explain the various kinds of partners. 

 TmhõÎPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUPÄ®. 

18. Discuss the various types of companies under the 
Companies Act, 1956. 

 {Ö© \mh®, 1956Cß RÌ £À÷ÁÖ ÁøP¯õÚ {Ö©[PøÍ 
ÂÁõvUPÄ®. 
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19. Explain the salient features of the competition Act, 2002. 

 ÷£õmi \mh®, 2002Cß •UQ¯ A®\[PøÍ ÂÍUSP. 

20. Briefly explain the powers of ‘Controller of certifying 
Authorities’ under the Information Technology Act, 2000. 

 uPÁÀ öuõÈÀ~m£ \mh® 2000, RÌ EÒÍ ‘\õßÓÎUS® 
AvPõ›PÎß Pmk¨£õmhõÍ¸UPõÚ’ AvPõμ[PøÍ 
_¸UP©õP ÂÍUSP. 

  

———————— 



  

D–6233     

DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2024. 

Third Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is E-commerce? 

 ªßÚq ÁoP® GßÓõÀ GßÚ? 

2. List out the different components of E-commerce. 

 ªßÚq ÁoPzvß £À÷ÁÖ TÖPøÍ £mi¯¼kP. 

3. Infer the term URL and Cookies. 

 URL ©ØÖ® SURPøÍ FQzx GÊxP. 

4. List out the characteristics of internet. 

 Cøn¯zvß £s¦PøÍ £mi¯¼kP. 

5. What is data warehousing? 

 uμÄU Qh[S GßÓõÀ GßÚ? 

6. How to prevent unauthorized to a computer network? 

 PoÛ Áø»¨¤ßÚ¼À A[RP›UP¨£hõuøu GÆÁõÖ 
uk¨£x? 
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7. What is security issues related to wireless 
communication? 

 Á¯ºö»ì uPÁÀöuõhº¦ \®©¢u©õÚ £õxPõ¨¦a 
]UPÀPÒ ¯õøÁ? 

8. What is supply chain management? 

 AÎ¨¦ \[Q¼öuõhº ÷©»õsø© GßÓõÀ GßÚ? 

9. What is B2C website? 

 B2C Cøn¯uÍ® GßÓõÀ GßÚ? 

10. Explain the term NEFT. 

 NEFT GßÓ ö\õÀø» ÂÍUSP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Explain the various types of E-commerce. 

  ªßÚq ÁoPzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What are the steps to designing and develop an  
E-commerce website? 

  J¸ ªßÚq ÁoPzvß Cøn¯uÍzøu 
ÁiÁø©zx ÷©®£kzxÁuØPõÚ £iPÒ ¯õøÁ? 

12. (a) Describe the OSI model in networking. 

  Áø»¨¤ßÚ¼À OSI ©õv›ø¯ ÂÁ›UP. 

Or 

 (b) What are the steps to create homepage in HTML? 
Explain. 

  HTMLCÀ •P¨¦¨£UPzøu E¸ÁõUSÁuØPõÚ 
£iPÒ ¯õøÁ? ÂÍUSP. 
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13. (a) Enumerate the function of firewall in e-commerce. 

  ªßÚq ÁoPzvÀ L£¯ºÁõ¼ß ö\¯À£õmøhU 
PnUQkP. 

Or 

 (b) Compare and contrast HTML with XML. 

  XML Ehß HTMLI J¨¤mk ÂÍUSP. 

14. (a) What are the strategies to be used SCM in B2B  
E-commerce? 

  B2B ªßÚq ÁoPzvÀ SCMCÀ £¯ß£kzu 
÷Ási¯ EzvPÒ ¯õøÁ? 

Or 

 (b) Specify the components of CRM architecture for 
business. 

  ÁoPzvØPõÚ CRM Pmhø©¨¤ß TÖPøÍU 
SÔ¨¤kP. 

15. (a) Describe the feature of knowledge management 
tools. 

  AÔÄ ÷©»õsø© P¸ÂPÎß A®\zøu ÂÁ›UP. 

Or 

 (b) Define wireless application protocol. Narrate the 
architecture of WAP. 

  Á¯ºö»ì £¯ß£õmk ö|Ô•øÓø¯ Áøμ¯ÖUP. 
WAPCß PmihUPø»ø¯ GkzxøμUP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Elaborate the benefits and functions of E-commerce. 

 ªßÚq ÁoPzvß |ßø©PÒ ©ØÖ® ö\¯À£õkPøÍ 
ÂÁ›UP. 
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17. Examine the different types of internet protocol and how 
it is useful to E-commerce. 

 £À÷ÁÖ ÁøP¯õÚ Cøn¯ ö|Ô•øÓPÒ ©ØÖ® Ax 
ªßÚq ÁoPzvØS GÆÁõÖ £¯ÝÒÍuõP C¸US® 
Gß£øu Bμõ´P. 

18. Infer the term traditional marketing. Examine the 
advantages of online marketing. 

 £õμ®£›¯ \¢øu¨£kzuÀ GßÓ ö\õÀø» FQUP. 
Cøn¯ÁÈ \¢øu°ku¼ß |ßø©PøÍ Bμõ´P. 

19. Discuss the various steps of E-payment system in detail. 

 ªßÚÝ Pmhn® ö\¾zxÁv¾ÒÍ £À÷ÁÖ £i{ø»PøÍ 
Â›ÁõP ÂÁõvUP. 

20. Analyse the success factors of EPAY.COM. 

 EPAY.COMCß öÁØÔU PõμoPøÍ £S¨£õ´Ä ö\´P. 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2024. 

Third Semester 

AUDITING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is internal check? 

 APa÷\õuøÚ •øÓ GßÓõÀ GßÚ? 

2. What is vouching? 

 \õßÓõ´Ä GßÓõÀ GßÚ? 

3. What is audit ledger? 

 uoUøP ÷£÷μk GßÓõÀ GßÚ? 

4. What is secret reserve? 

 μP]¯U Põ¨¦ GßÓõÀ GßÚ? 

5. What do you mean audit report? 

 uoUøP AÔUøP £ØÔ AÔÁx GßÚ? 

6. What is allotment? 

 JxURk GßÓõÀ GßÚ? 
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7. What is purpose of special audit? 

 ]Ó¨¦ uoUøP°ß ÷|õUP® GßÚ? 

8. Infer the term EDP auditing? 

 EDP uoUøP GÝ® £uzøu öÁÎUöPõnºP. 

9. What is negligence? 

 PÁÚSøÓ£õk GßÓõÀ GßÚ? 

10. What do you mean by investigation? 

 ¦»Úõ´Ä £ØÔ }Ãº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Define auditing. State its limitations. 

  uoUøPø¯ Áøμ¯ÖUPÄ®. Auß SøÓ£õkPøÍ 
TÓÄ®. 

Or 

 (b) List out the features of good internal check system. 

  ]Ó¢u APa^μõ´Ä •øÓ°ß ]Ó¨¤¯À¦PøÍ 
£mi¯¼kP. 

12. (a) What is audit sampling? Explain its various 
methods. 

  uoUøP ©õv› GßÓõÀ GßÚ? AuÝøh¯ £À÷ÁÖ 
•øÓPøÍ ÂÍUSP. 

Or 

 (b) Explain the procedure for vouching the petty cash 
book. 

  ]À»øμ öμõUP Hmiß Buõμa^mk uoUøPø¯ 
ÂÁ›. 
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13. (a) What are the provisions of the Companies Act for 
the removal of auditors? 

  uoUøP¯õÍº }UP® öuõhº£õÚ P®ö£Û \mhzvß 
åμzxPÒ ¯õøÁ? 

Or 

 (b) What are the objects of special audit? 

  ]Ó¨¦ uoUøP°ß ÷|õUP[PÒ ¯õøÁ? 

14. (a) What is management audit? What are its objects? 

  ÷©»õsø© uoUøP GßÓõÀ GßÚ? Auß 
÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Write a note on professional ethics for an auditor. 

  uoUøP¯õÍ¸UPõÚ öuõÈÀ•øÓ ö|Ô•øÓPÒ 
£ØÔ¯ SÔ¨ø£ GÊuÄ®. 

15. (a) What are the qualities of a good auditor? 

  J¸ |À» uoUøP¯õÍ›ß Sn[PÒ ¯õøÁ? 

Or 

 (b) Distinguish between auditing and investigation. 

  uoUøP°¯À ©ØÖ® ¦»Úõ´øÁ ÷ÁÖ£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the system of internal check regarding the 
payment of wages. 

 T¼ £mkÁõhõ öuõhº£õÚ APa^μõ´Ä •øÓø¯ 
ÂÍUSP. 
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17. As an auditor, how will you verify the following? 

 (a) Goodwill 

 (b) Investments 

 (c) Preliminary expenses 

 (d) Book debts. 

 J¸ uoUøP¯õÍμõP ¤ßÁ¸ÁÚÁØøÓ G¨£i 
\›£õº¨£õ´ 

 (A) |Øö£¯º 

 (B) •u½kPÒ 

 (C) öuõhUPa ö\»ÄPÒ 

 (D) HmkUPhß. 

18. Explain in detail rights and duties of an auditor of a 
public limited company. 

 J¸ ö£õx Áøμ¯ÖUP¨£mh {Ö©zvß 
uoUøP¯õÍ¸US›¯ E›ø©PÒ ©ØÖ® Phø©PøÍ 
Â›ÁõP ÂÍUSP. 

19. What is meant by continuous audit? Bring out  its 
advantages and disadvantages. 

 öuõhºa]¯õÚ uoUøP GßÓõÀ GßÚ? AuÝøh¯ 
|ßø©PÒ ©ØÖ® wø©PøÍ öÁÎUöPõnºP. 

20. Explain as an auditor how would you conduct 
investigation when fraud is suspected? 

 J¸ uoUøP¯õÍº GßÓ •øÓ°À ÷©õ\iPøÍU 
Psk¤iUP GÆÁõÖ ¦»Úõ´Ä ö\´Áõ´ Gß£øu 
ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR 
B.Com./B.Com.(L.E)/B.Com.(CA)/B.Com.(CA)(Lateral Entry) 

DEGREE EXAMINATION, DECEMBER 2024. 

Third Semester 

MERCHANT BANKING AND FINANCIAL SERVICES 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Write any two examples for institutional underwriters. 

 {ÖÁÚ J¨¦Öv¯õÍºPÐUS H÷uÝ® Cμsk 
Euõμn[PøÍ GÊxP. 

2. What is pre issue management? 

 öÁÎ±miØS •¢øu¯ ÷©»õsø© GßÓõÀ GßÚ? 

3. Define financial services. 

 {va÷\øÁPøÍ Áøμ¯ÖUP. 

4. What is put options? 

 Â¸¨£[PøÍ øÁzuÀ GßÓõÀ GßÚ? 

5. What do you mean by installment buying? 

 uÁøn öPõÒ•uÀ £ØÔ }Ãº AÔÁx GßÚ? 
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6. Define mutual fund. 

 £μì£μ {vø¯ Áøμ¯ÖUP. 

7. What do you mean by acquisition? 

 øP¯P¨£kzxuÀ £ØÔ AÔÁx GßÚ? 

8. When may merger and acquisitions take place? 

 Cøn¨¦PÒ ©ØÖ® øP¯P¨£kzxuÀ G¨÷£õx |hUS®? 

9. Give the meaning of credit rating. 

 Phß©v¨¥mkz uμªh¼ß  ö£õ¸øÍ u¸P. 

10. What is discounting of bills? 

 Esi¯ÀPøÍ uÒÐ£i ö\´uÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) What are the advantages of underwriting? 

  J¨¦Övö\´u¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Write the qualities required for merchant bankers. 

  ÁoP Á[Q¯¸US ÷uøÁ¯õÚ uSvPøÍ GÊxP. 

12. (a) Write a short note on dematerialization. 

  PÍg]¯zvß ö£õÖ¨¤¯À DkPøÍ J¨£øhzuÀ 
£ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Write a short note on American depository receipt? 

  Aö©›UPß øÁ¨¦ μ^x £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 



D–6235 
  3

13. (a) What are the advantages of leasing? 

  SzuøP°ku¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain legal structure of mutual fund in India. 

  C¢v¯õÂ¾ÒÍ £μì£μ {v°ß \mh ÁiÁø©¨ø£ 
ÂÍUSP. 

14. (a) What are the differences between hire purchase and 
lease? 

  SzuøPUS® ÁõhøPU öPõÒ•u¾US® Cøh°»õÚ 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the elements of portfolio management. 

  C»õPõ •u½mk £mi¯À ÷©»õsø©°ß TÖPøÍ 
ÂÍUPÄ®. 

15. (a) Distinguish between factoring and discounting. 

  HmkUPhß uμS ©ØÖ® uÒÐ£i ö\´uø» 
÷ÁÖ£kzxP. 

Or 

 (b) Bring out the benefits of credit rating. 

  Phß©v¨¥mkz uμªh¼ß |ßø©PøÍ u¸P. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the duties and responsibilities of lead managers. 

 •ußø© ÷©»õÍ¸øh¯ Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ 
£ØÔ ÂÍUSP. 

17. Explain the depository Act 1996 in detail. 

 øÁ¨¦zöuõøP \mh® 1996I Â›ÁõP ÂÍUSP. 
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18. What are the merits and demerits of mutual funds? 

 £μì£μ {v°ß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

19. Describe the portfolio performance evaluation methods. 

 C»õPõ •u½mk £mi¯À ö\¯À•øÓ ©v¨¥mk 
•øÓPøÍ £ØÔ ÂÁ›UP. 

20. Explain the different types of factoring. 

 HmkUPhß uμQß öÁÆ÷ÁÖ ÁøPPøÍ £ØÔ ÂÁ›UP. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(Lateral Entry)/ 
B.Com.(CA)/B.Com.(CA)(Lateral Entry) DEGREE 

EXAMINATION, DECEMBER 2024. 

Third Semester 

MANAGERIAL ECONOMICS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Define demand. 

 ÷uøÁø¯ Áøμ¯ÖUP. 

2. What is demand forecasting? 

 ÷uøÁ •ßÚÔÂ¨¦ GßÓõÀ GßÚ? 

3. What are total variable costs? 

 ö©õzu ©õÖ£k® ö\»ÄPÒ Gß£Ú ¯õøÁ? 

4. What is marginal cost? 

 CÖv{ø» ö\»Ä GßÓõÀ GßÚ? 

5. What is meant by profit maximization? 

 C»õ£ AvP›¨¦ £ØÔ AÔÁx GßÚ? 

Sub. Code 
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6. What is revenue? 

 Á¸Áõ´ GßÓõÀ GßÚ? 

7. What do you mean by macro economics? 

 ÷£›Ú¨ ö£õμÍõuõμ® £ØÔ }Âº AÔÁx GßÚ? 

8. What do you mean by imperfect competition? 

 {øÓÂÀ»õu ÷£õmi £ØÔ }Âº AÔÁx GßÚ? 

9. What is multiplier effect? 

 ö£¸UQ ÂøÍÄ GßÓõÀ GßÚ? 

10. What is economic stability? 

 ö£õ¸Íõuõμ vh{ø» GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Examine the scope of managerial economics. 

  ÷©»õsø© ö£õ¸Íõuõμzvß GÀøPø¯ Bμõ´P. 

Or 

 (b) Explain the different methods of demand 
forecasting. 

  ÷uøÁ •ßÚÔÂ¨¤ß £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

12. (a) Explain the exceptions in the law of supply. 

  AÎ¨¦ Âv°À EÒÍ ÂvÂ»USPøÍ ÂÍUSP. 

Or 

 (b) What are the assumptions of production function? 

  EØ£zvU PõμoPÎß Gk÷PõÒPÒ ¯õøÁ? 
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13. (a) How cost is analysed in the long run in association 
with the output? 

  öÁÎ±mkhß Cøn¢x }sh Põ»zvØS ö\»Ä 
GÆÁõÖ £S¨£õ´Ä ö\´¯¨£kQÓx? 

Or 

 (b) What are the types of revenue? 

  Á¸Áõ°Úzvß ÁøPPÒ ¯õøÁ? 

14. (a) What are the advantages of index numbers? 

  SÔ±mk GsPÎß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Bring out the characteristics of monopoly market. 

  •ØÖ›ø© \¢øu°ß £s¦PøÍ öÁÎ öPõnºP. 

15. (a) Discuss the consumption function. 

  ~PºÄa ö\¯À£õkPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) State the importance of stabilization policies. 

  {ø»¨£kzuÀ öPÒøPPÎß •UQ¯zxÁzøuU 
TÓÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the different types of demand. 

 ÷uøÁ°ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

17. Explain the law of variable proportions. 

 ©õÖ£kQßÓ ÂQu[PÎß ÂvPøÍ ÂÍUSP. 

18. Explain the cost functions in detail. 

 ö\»Ä ö\¯À£õkPøÍ Â›ÁõP ÂÍUSP. 
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19. Bring out the classification of markets. 

 \¢øuPÎß ÁøP¨£õmøh öÁÎU öPõnºP. 

20. Explain the important theories of business cycles. 

 ÁoP _ÇØ]PÎß •UQ¯©õÚ ÷Põm£õkPøÍ ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(Lateral Entry)/ 
B.Com.(CA)/B.Com.(CA)(Lateral Entry) DEGREE 

EXAMINATION, DECEMBER 2024. 

Fourth Semester 

INSURANCE MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Write the meaning of risk. 

 Chº Gß£uß ö£õ¸øÍ GÊxP. 

2. Give the definition of insurance. 

 Põ¨¥k & Áøμ¯Ö. 

3. What is life insurance? 

 B²Ò Põ¨¥k GßÓõÀ GßÚ? 

4. Write short note on marine insurance. 

 PhÀ Põ¨¥k £ØÔ¯ ]Ö SÔ¨¦ GÊxP. 

5. Give the meaning of insurance claim. 

 Põ¨¥mkU ÷Põ›UøP Gß£uß ö£õ¸øÍ GÊxP. 

Sub. Code 
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6. What is insurance premium? 
 Põ¨¥mk uÁøn GßÓõÀ GßÚ? 

7. Who is insurer? 
 Põ¨¥mhõÍº Gß£Áº ¯õº? 

8. Give the short note on the insurance ombudsman scheme. 
 Á[QU SøÓwº¨£õÍº vmh® £ØÔ¯ ]Ö SÔ¨ø£z u¸P. 

9. Write the meaning of causa proxima. 
 EhÚiU Põμn® (P\õ ¨μõUê©õ) Gß£uß Aºzuzøu 

GÊxP. 

10. State the meaning of reinsurance. 
 ©ÖPõ¨¥miß ö£õ¸øÍU SÔ¨¤hÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Write the significance of risk management. 
  Chº÷©»õsø©°ß •UQ¯zxÁzøu GÊxP. 

Or 

 (b) Give the significance of insurance. 
  Põ¨¥miß •UQ¯zxÁzøu GÊxP. 

12. (a) Discuss about privatization of insurance industry in 
India. 

  C¢v¯õÂÀ Põ¨¥mkz xøÓø¯ uÛ¯õº©¯©õUSÁx 
£ØÔ ÂÁõvUP. 

Or 

 (b) Write the framework for IRDA rules and 
regulations. 

  IRDA ÂvPÒ ©ØÖ® JÊ[S •øÓPÐUPõÚ 
Pmhø©¨ø£ £ØÔ GÊxP. 
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13. (a) What are the role of riders in insurance policy? 

  Põ¨¥k vmhzvÀ EÒÍ xøn {μÀ (Riders) 
{μÀPÎß •UQ¯zxÁzøu GÊxP. 

Or 

 (b) State the elements of fire insurance contract. 
  w Põ¨¥mk J¨£¢uzvß TÖPøÍU SÔ¨¤hÄ®. 

14. (a) Give the principles of insurance pricing. 
  Põ¨¥mk Âø»°ß öPõÒøPPøÍ SÔ¨¤kP. 

Or 

 (b) Explain the importance of financial management in 
insurance companies. 

  Põ¨¥mk {ÖÁÚ[PÎÀ {v {ºÁõPzvß 
•UQ¯zxÁzøu ÂÍUSP. 

15. (a) Discuss about reinsurance in the insurance sector. 
  Põ¨¥mkz xøÓ°À ©ÖPõ¨¥k £ØÔ ÂÁõvUP. 

Or 

 (b) What is health insurance? And writes its benefits. 
  ©¸zxÁ Põ¨¥k GßÓõÀ GßÚ? Auß £»ßPøÍ 

GÊxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain about general structure of the insurance market. 
 Põ¨¥mk \¢øu°ß ö£õxÁõÚ Pmhø©¨¦ £ØÔ ÂÍUSP. 

17. Discuss the role of rural insurance in making people’s 
lives better in rural India. 

 C¢v¯õÂÀ Qμõ©¨¦Ó ©UPÎß ÁõÌUøPø¯ 
]Ó¨£õUSÁvÀ Qμõ©¨¦ÓU Põ¨¥miß £[øP¨ £ØÔ 
ÂÁõvUPÄ®. 
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18. Narrate the various types of motor insurance policies. 

 £À÷ÁÖ ÁøP¯õÚ ÁõPÚ Põ¨¥mk £õ¼]PøÍ ÂÁ›UP. 

19. Elucidate about type of documents needed in various 
types of claims. 

 £À÷ÁÖ ÁøP¯õÚ E›ø©÷PõμÀPÎÀ ÷uøÁ¨£k® 
BÁn[PÎß ÁøPPøÍ¨ £ØÔ öuÎÄ£kzxP. 

20. Discuss about the role of insurance companies in 
insurance security. 

 Põ¨¥mk £õxPõ¨¤À Põ¨¥mk {ÖÁÚ[PÎß £[S £ØÔ 
ÂÁõvUP. 

  

———————— 
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(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. State ‘Bayes theorem’. 

 ‘÷£¯ì ÷uØÓ®’ £ØÔ TÖP. 

2. State four characteristics of Poisson distribution. 

 £õ´\ß Â{÷¯õPzvß |õßS ]Ó¨£®\[PøÍ TÖP. 

3. List the different sampling techniques. 

 öÁÆ÷ÁÖ ©õv› ~m£[PøÍ £mi¯¼kP. 

4. Define point estimator and margin of error. 

 ¦ÒÎ ©v¨¥k ©ØÖ® ¤øÇ°ß ÂÎ®ø£ Áøμ¯ÖUPÄ®. 

5. Distinguish between t-test and z-test. 

 t-test ©ØÖ® z-test ß ÷ÁÖ£õmøh Põs. 
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6. Define chi-square distribution. 

 ø\&\xμ Â{÷¯õPzøu Áøμ¯Ö. 

7. How is the accuracy of a regression equation measured? 

 ¤ßÚøhÄ \©ß£õmiß xÀ¼¯® GÆÁõÖ 
AÍÂh¨£kQÓx? 

8. Distinguish between strong and weak correlations. 

 Á¾ÁõÚ ©ØÖ® £»ÃÚ©õÚ öuõhº¦PøÍ 
÷ÁÖ£kzx[PÒ. 

9. Define hypothesis. 

 P¸x÷PõÒ Áøμ¯Ö. 

10. What are irregular variations in a time series? How is 
their effect minimized in forecasts? 

 ÷|μz öuõh›À EÒÍ JÊ[PØÓ ©õÖ£õkPÒ GßÚ? 
•ßÚÔÂ¨¦PÎÀ AÁØÔß ÂøÍÄ GÆÁõÖ 
SøÓUP¨£kQÓx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Briefly explain simple random sampling and 
stratified sampling. 

  GÎ¯ ^μØÓ ©õv› ©ØÖ® AkUS ©õv›ø¯ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) Briefly explain different types of data. 

  uμÄPÎß ÁøPPøÍ _¸UP©õP Áøμ¯ÖUPÄ®. 
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12. (a) Calculate harmonic mean of 12, 6, 3, 1, 18, 36. 

  12, 6, 3, 1, 18, 36 Cß íõº÷©õÛU \μõ\›ø¯U 

PnUQkP. 

Or 

 (b) 5 cards are drawn from a pack of 52 cards. Find the 

probability of getting. 

  (i) 2 spades and 3 diamonds 

  (ii) all spades 

  (iii) no diamonds. 

  52 AmøhPÒ öPõsh J¸ ÷£UQÀ C¸¢x 5 

AmøhPÒ GkUP¨£kQßÓÚ. ö£ÖÁuØPõÚ 

{PÌuPøÁU PshÔ¯Ä®. 

  (i) 2 ©söÁmiPÒ ©ØÖ® 3 øÁμ[PÒ 

  (ii) AøÚzx ©söÁmiPÒ 

  (iii) øÁμ[PÒ CÀø». 

13. (a) Explain the different types of sampling techniques 

used. 

  £À÷ÁÖ ÁøP¯õÚ ©õv› ~m£[PÎß £¯ßPøÍ 

ÂÁ›. 

Or 

 (b) Briefly explain the effect of change of origin and 

scale on the central moments. 

  ø©¯ u¸n[PÎÀ ÷uõØÓ® ©ØÖ® AÍÂß 

©õØÓzvß ÂøÍøÁ _¸UP©õP ÂÍUSP. 
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14. (a) Define relative measures of dispersion. Find the 
coefficient of variation of the data, 43,32,60,12,8,4,1. 

  ]uÓ¼ß J¨¥mk |hÁiUøPPøÍ Áøμ¯ÖUPÄ® 
43,32,60,12,8,4,1  BQ¯ uμÄPÎß ©õÖ£õmiß 
SnPzøuU PshÔP. 

Or 

 (b) What is quantitative classification and which are 
the important components of a grouped frequency 
distribution? 

  AÍÄ ÁøP¨£õk GßÓõÀ GßÚ ©ØÖ® SÊÂß 
•UQ¯©õÚ TÖPÒ GøÁ AvºöÁs Â{÷¯õP®? 

15. (a) Define simple random sample and explain the 
methods of selecting simple random sample without 
replacement. 

  GÎ¯ ^μØÓ ©õv›ø¯ Áøμ¯ÖUPÄ® ©ØÖ® ©õØÖ 
CÀ»õ©À GÎ¯ ^μØÓ ©õv›ø¯z ÷uº¢öukUS® 
•øÓPøÍ ÂÍUSP. 

Or 

 (b) Briefly explain the tests for a good index number. 
  J¸ |À» SÔ±mk GsqUPõÚ ÷\õuøÚPøÍ 

_¸UP©õP ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Calculate mean, median and mode from the following 
data. 

Marks 0 10 20 30 40 50 60 70 80

No of students 1 9 26 59 72 52 29 7 1 
 ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® 

•PøhU PnUQhÄ®. 

©v¨ö£s 0 10 20 30 40 50 60 70 80
©õnÁºPÎß GsoUøP 1 9 26 59 72 52 29 7 1 
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17. Two bags contain 8 white, 5 black and 4 white, 6 black 
balls. One ball is randomly transferred from first bag to 
second and then a ball is drawn from the second. It is 
found to be a black ball. Find the probability that the 
transferred ball is white. 

 Cμsk ø£PÎÀ 8 öÁÒøÍ, 5 P¸¨¦ ©ØÖ® 4 öÁÒøÍ, 
6 P¸¨¦ £¢xPÒ EÒÍÚ. J¸ £¢x uØö\¯»õP •uÀ 
ø£°À C¸¢x CμshõÁx ChzvØS ©õØÓ¨£mhx, 
¤ßÚº CμshõÁx J¸ £¢x Áøμ¯¨£mhx. Cx J¸ 
P¸¨¦ £¢x GÚ PshÔ¯¨£mkÒÍx. Cx J¸ P¸¨¦ 
£¢x GÚ PshÔ¯¨£mkÒÍx. ©õØÓ¨£mh £¢x 
öÁsø©¯õP C¸¨£uØPõÚ {PÌuPøÁU PshÔP. 

18. Two regression equations are 02623 =−+ yx  and 

0316 =−+ yx  find  

 (a)  The means of X  and Y  

 (b) The coefficient of correlation between X  and Y . 

 Cμsk ¤ßÚøhÄ \©ß£õkPÒ 02623 =−+ yx  ©ØÖ® 

0316 =−+ yx  Psk¤i 

 (A) X  ©ØÖ® Y  Cß ÁÈ•øÓPÒ 

 (B) X  ©ØÖ® Y Cøh÷¯ EÒÍ öuõhº¦ SnP®. 

19. The chances of A, B and C becoming manager of a 
company are 4 : 2 : 3. The probability that bonus scheme 
will be introduced if A, B and C became managers are 0.3, 
0.5 and 0.8. The bonus scheme was introduced. What is 
the probability that A is appointed as the manager. 

 A, B ©ØÖ® C J¸ {ÖÁÚzvß ÷©»õÍμõP Á¸ÁuØPõÚ 

Áõ´¨¦PÒ 4:2:3 BS®. A, B ©ØÖ® C ÷©»õÍºPÍõÚõÀ 

÷£õÚì vmh® AÔ•P¨£kzu¨£k® {PÌuPÄ 0.3, 0.5 
©ØÖ® 0.8 BS®. ÷£õÚì vmh® AÔ•P¨£kzu¨£mhx. 
A ÷©»õÍμõP {¯ªUP¨£kÁuØPõÚ {PÌuPÄ GßÚ? 
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20. Explain the various components of time series analysis 
with suitable examples. 

 ÷|μz öuõhº¦ £S¨£õ´Âß £À÷ÁÖ TÖPøÍ 
ö£õ¸zu©õÚ GkzxUPõmkPÐhß ÂÍUSP. 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 
Answer ALL the questions. 

1. What is the primary purpose of an office manual? 
 A¾Á»PU øP÷¯miß •ußø© ÷|õUP® GßÚ? 

2. Name two essential qualities required of an efficient 
office manager. 

 vÓø©¯õÚ A¾Á»P ÷©»õÍ¸USz ÷uøÁ¯õÚ Cμsk 
Azv¯õÁ]¯ Sn[PøÍU SÔ¨¤kP. 

3. How would you apply modular furniture in an open-plan 
office layout? 

 vÓ¢u vmh A»Á»P Aø©¨¤À ©õk»º uÍÁõh[PøÍ 
GÆÁõÖ £¯ß£kzxÃºPÒ? 

4. Identify one advantage and one disadvantage of choosing 
a central location for an office. 

 J¸ A¾Á»PzvØS J¸ ø©¯ Chzøuz ÷uº¢öuk¨£vÀ 
J¸ |ßø© ©ØÖ® J¸ SøÓ£õmøh Aøh¯õÍ® PõnÄ®. 

5. What is the primary purpose of forms management in an 
office? 

 J¸ A¾Á»PzvÀ £iÁ[PÒ {ºÁõPzvß •ußø© 
÷|õUP® GßÚ? 

Sub. Code 
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6. Give a note on forms control and forms management. 

 £iÁ[PÒ Pmk¨£õk ©ØÖ® £iÁ[PÒ ÷©»õsø© 
SÔzx J¸ SÔ¨ø£ u¸P. 

7. State the two main types of mail services used in an 
office. 

 J¸ A¾Á»PzvÀ £¯ß£kzu¨£k® Cμsk •UQ¯ 
ÁøP¯õÚ Ag\À ÷\øÁPøÍU SÔ¨¤hÄ®. 

8. Identify two common barriers to communication. 

 uPÁÀ öuõhº¦US Cμsk ö£õxÁõÚ uøhPøÍ 
Aøh¯õÍ® PõnÄ®. 

9. Why is it crucial for office management to control costs? 

 A¾Á»P {ºÁõPzvØS ö\»ÄPøÍU Pmk¨£kzxÁx Hß 
•UQ¯®? 

10. How can technological advancements improve business 
communication in an office setting? 

 öuõÈÀ~m£ •ß÷ÚØÓ[PÒ J¸ A¾Á»P Aø©¨¤À 
ÁoPzöuõhºø£ GÆÁõÖ ÷©®£kzu»õ®? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Analyze the impact of effective supervision on office 
productivity. 

  A¾Á»P EØ£zvzvÓÛÀ vÓø©¯õÚ 
÷©Ø£õºøÁ°ß uõUPzøu £S¨£õ´Ä ö\´²[PÒ. 

Or 

 (b) Compare and contrast line authority and staff 
authority within an organizational chart. 

  J¸ {ÖÁÚ ÂÍUP¨£hzvØSÒ Á› AvPõμ® ©ØÖ® 
£o¯õÍº AvPõμ® BQ¯ÁØøÓ J¨¤mk 
÷ÁÖ£kzx[PÒ. 
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12. (a) List out the benefits and drawbacks of air 
conditioning ventilation in an office environment. 

  A¾Á»P `Ç¼À PõØÖa^μø©zuÀ, PõØ÷Óõmhzvß 
|ßø©PÒ ©ØÖ® SøÓ£õkPøÍ £mi¯¼k[PÒ. 

Or 

 (b) Assess the impact of poor lighting on office 
productivity. 

  A¾Á»P EØ£zvzvÓÛÀ ÷©õ\©õÚ ÂÍUSPÎß 
uõUPzøu ©v¨¥k ö\´²[PÒ. 

13. (a) Infer the roles and qualities of an office manager 
with the principles of office organization. 

  A¾Á»P Aø©¨¤ß öPõÒøPPÐhß J¸ A¾Á»P 
÷©»õÍ›ß £õzvμ[PÒ ©ØÖ® Sn[PøÍ 
SÔ¨¤hÄ®. 

Or 

 (b) Determine the impact of office environment factors 
on employee productivity and health. 

  £o¯õÍº EØ£zvzvÓß ©ØÖ® B÷μõUQ¯zvÀ 
A¾Á»P `ÇÀ PõμoPÎß uõUPzøu wº©õÛUPÄ®. 

14. (a) Interpret a detailed analysis of how computer-based 
systems can be integrated into office management. 

  PoÛ Ai¨£øh°»õÚ Aø©¨¦PøÍ A¾Á»P 
{ºÁõPzvÀ GÆÁõÖ J¸[QønUP•i²® 
Gß£uØPõÚ Â›ÁõÚ £S¨£õ´øÁ ÂÍUSP. 

Or 

 (b) Discuss the importance of communication in an 
office environment. 

  A¾Á»Pa `Ç¼À uPÁÀ öuõhº¦PÎß 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUPÄ®. 

15. (a) Evaluate the role of modular furniture in enhancing 
office efficiency and flexibility. 

  A¾Á»Pö\¯ÀvÓß ©ØÖ® ö|QÌÄzußø©ø¯ 
÷©®£kzxÁvÀ ©õk»º uÍÁõh[PÎß £[øP 
©v¨¥k ö\´²[PÒ. 

Or 
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 (b) How would you implement a new filing system in an 
office? 

  J¸ A¾Á»PzvÀ J¸ ¦v¯ uõUPÀ •øÓø¯ }[PÒ 
GÆÁõÖ ö\¯À£kzxÃºPÒ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss how effective office management aligns with 
overall business goals. 

 ö\¯ÀvÓß ªUP A¾Á»P ÷©»õsø Jmkö©õzu ÁoP 
C»USPÐhß GÆÁõÖ Jzx¨÷£õQÓx Gß£øu¨ £ØÔ 
ÂÁõvUPÄ®. 

17. Explain the objectives of office systems and the benefits 
they offer to office operations. 

 A¾Á»P Aø©¨¦PÎß ÷|õUP[PÒ ©ØÖ® A¾Á»P 
ö\¯À£õkPÐUS AøÁÁÇ[S® |ßø©PÒ £ØÔ 
ÂÍUSP. 

18. Describe the benefits of standardization and 
measurement in work management. 

 £o ÷©»õsø©°À uμ¨£kzuÀ ©ØÖ® AÍÃmiß 
|ßø©PøÍ ÂÁ›UPÄ®. 

19. Infer how the principles of proof correction are applied in 
office correspondence. 

 A¾Á»P Piu¨£›©õØÓzvÀ Buõμzv¸zuzvß 
öPõÒøPPÒ GÆÁõÖ £¯ß£kzu¨£kQßÓÚ Gß£øuU 
PshÔ¯Ä®. 

20. Determine the role of data processing systems in modern 
offices. 

 |ÃÚ A¾Á»P[PÎÀ uμÄ ö\¯»õUP•øÓPÎß £[øP 
wº©õÛUPÄ®. 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. State any two objectives of budgetary control. 

 ÁμÄ ö\»ÄzvmhU Pmk¨£õmiß H÷uÝ® Cμsk 
÷|õUP[PøÍU SÔ¨¤kP.  

2. Interpret the uses of variances. 

 ©õÖ£õkPÎß £¯ß£õkPøÍ ÂÍUSP. 

3. Give a note on margin of safety. 

 £õxPõ¨¤ß ÂÎ®¦ SÔzx J¸ SÔ¨ø£z u¸P. 

4. What is ratio analysis? 

 ÂQu £S¨£õ´Ä GßÓõÀ GßÚ? 

5. Define marginal costing. 

 ÂÎ®¦ ö\»ÄPøÍ Áøμ¯ÖUPÄ®. 
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6. Explain the concept of fund flows. 

 {v¨£õ´Ä GßÓ P¸zøu ÂÍUSP. 

7. Describe the objectives of cash flow statement. 

 £n¨¦ÇUP AÔUøP°ß ÷|õUP[PøÍ ÂÁ›UPÄ®. 

8. What is schedule of changes in working capital? 

 ö\¯À£õmk ‰»uÚzvÀ ©õØÓ[PÎß AmhÁøn GßÚ? 

9. Infer on dividend policy. 

 DÄzöuõøP öPõÒøP £ØÔ ÂÍUSP. 

10. Discuss the role of inflation accounting. 

 £nÃUPU PnUQ¯¼ß £[S £ØÔ ÂÁõvUPÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) List out the types of variances. 

  ©õÖ£õkPÎß ÁøPPøÍ £mi¯¼k[PÒ. 

Or 

 (b) Draw up a flexible budget for production at 75% and 
100% capacity on the basis of the following data for 
a 50% activity. 

Particulars Per unit Rs.

Materials 100

Labour 50

Variable expenses (direct) 10

Administrative expenses (50% fixed) 40,000

Selling and distribution expenses (60% fixed) 50,000

Present production (50% activity) 1,000 units
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  50% ö\¯À£õmiØPõÚ ¤ßÁ¸® uμÄPÎß 
Ai¨£øh°À 75% ©ØÖ® 100% vÓÛÀ 
EØ£zvUPõÚ ö|QÌÁõÚ ÁμÄö\»Ä vmh® 
Áøμ¯Ä®. 

ÂÁμ[PÒ J¸ A»S  
Ãu® ¹. 

ö£õ¸mPÒ 100
öuõÈ»õÍº 50
©õÖ® ö\»ÄPÒ (÷|μi) 10
{ºÁõPa ö\»ÄPÒ (50% {ø»¯õÚøÁ) 40,000
ÂØ£øÚ ©ØÖ® Â{÷¯õP ö\»ÄPÒ (60% {ø»¯õÚøÁ) 50,000
uØ÷£õøu¯ EØ£zv (50% ö\¯À£õk) 1,000 A»SPÒ

12. (a) Vasanth Ltd., presents the following figures, 
calculate : 

  (i) P/V ratio 

  (ii) Breakeven point. 

  (iii) Margin of safety. 
Particulars Rs. 

Sales 2,00,000
Variable costs 1,20,000
Fixed costs 50,000
Net profit 30,000

  Á\¢z ¼ªöhm, ¤ßÁ¸® ¦ÒÎ ÂÁμ[PøÍ 
ÁÇ[SQÓx. PnUQk[PÒ   

  (i) ¤/Â ÂQu® 

  (ii) ¤÷μU DÁß ¦ÒÎ 

  (iii) £õxPõ¨¦ Áμ®¦ 
ÂÁμ[PÒ ¹. 

ÂØ£øÚ 2,00,000
©õÖ£k® ö\»ÄPÒ 1,20,000
{ø»¯õÚ ö\»ÄPÒ 50,000
{Pμ»õ£® 30,000

Or 
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 (b) How do you deal with the following items in a 

comparative balance sheet? 

 

Particulars 

31-3-2006 

Rs. 

31-3-2007

Rs. 

Fixed assets 40,00,000 50,00,000

Current assets 10,00,000 9,00,000

Share capital 5,00,000 6,00,000

  J¨¥mk C¸¨¦{ø»U SÔ¨¤À¤ß 

Á¸®ö£õ¸mPøÍ }[PÒ GÆÁõÖ øP¯õÐQÕºPÒ? 

 

ÂÁμ[PÒ 
31-3-2006

¹. 
31-3-2007

¹. 

{ø»¯õÚ ö\õzxUPÒ 40,00,000 50,00,000

uØ÷£õøu¯ ö\õzxUPÒ 10,00,000 9,00,000

£[S ‰»uÚ® 5,00,000 6,00,000

13. (a) Calculate gross profit ratio from the following 

figures  

Particulars Rs. 

Sales 10,00,000

Sales returns 1,00,000

Opening stock 2,00,000

Purchases 6,00,000

Purchase returns 1,50,000

Closing stock 65,000
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  ¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎ¼¸¢x ö©õzu »õ£ 
ÂQuzøuU PnUQk[PÒ. 

ÂÁμ[PÒ ¹. 

ÂØ£øÚ 10,00,000

ÂØ£øÚ Á¸©õÚ® 1,00,000

vÓ¨¦ £[S 2,00,000

öPõÒ•uÀ 6,00,000

öPõÒ•uÀ Á¸©õÚ® 1,50,000

CÖvUøP°¸¨¦ £[S 65,000

Or 

 (b) Ascertain the change in working capital from the 
following: 

Particulars Rs. 

Increase in some items of current assets 12,000

Decrease in some items of current assets 9,000

Increase in some items of current liabilities 10,000

Decrease in some items of current liabilities 12,000

  ¤ßÁ¸ÁÚÁØÔÀ C¸¢x ö\¯À£õmk ‰»uÚzvß 
©õØÓzøuU PshÔ¯Ä®. 

ÂÁμ[PÒ ¹. 

uØ÷£õøu¯ ö\õzxUPÎß ]» ö£õ¸mPÎÀ AvP›¨¦ 12,000

uØ÷£õøu¯ ö\õzxUPÎß ]» E¸¨£iPÎÀ SøÓÄ 9,000

uØ÷£õøu¯ PhßPÎß ]» E¸¨£iPÎÀ AvP›¨¦ 10,000

uØ÷£õøu¯ PhßPÎß ]» E¸¨£iPÎÀ SøÓÄ 12,000
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14. (a) From the following information relating to Bright 
Ltd., calculate funds lost in operation. 

Particulars Rs. 

Net loss for the year 90,000

Dividend received 7,000

Depreciation charged 10,000

Profit on sale of assets 5,000

Refund to tax 2,000

  ¤øμm ¼ªöhm öuõhº£õÚ ¤ßÁ¸® uPÁ¼¼¸¢x, 
ö\¯À£õmiÀ CÇ¢u {vø¯U PnUQk[PÒ.  

ÂÁμ[PÒ ¹. 

BskUPõÚ {Pμ CÇ¨¦ 90,000

DÄzöuõøP Qøhzux 7,000

÷u´©õÚ® Pmhn®  10,000

ö\õzx ÂØ£øÚ »õ£® 5,000

Á› v¸¨¦øP 2,000

Or 

 (b) Compute cash from operations from the following  : 

Particulars Rs. 

Net profit for the year 2006-07 80,000

Depreciation written off on fixed assets 11,000

Profit on sale of building 22,000

Loss on sale of machine 13,000

Increase in current assets (except cash) 46,000

Increase in current liabilities 29,000
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  ¤ßÁ¸ÁÚÁØÔ¼¸¢x ö\¯À£õkPÎ¼¸¢x 
£nzøuU PnUQk[PÒ. 

ÂÁμ[PÒ ¹. 

2006&07B® BskUPõÚ {Pμ»õ£® 80,000

{ø»¯õÚ ö\õzxUPÎÀ ÷u´©õÚ® GÊx¨£mhx 11,000

Pmih® ÂØÓ »õ£® 22,000

C¯¢vμzvß ÂØ£øÚ°À CÇ¨¦  13,000

uØ÷£õøu¯ ö\õzxPÎÀ AvP›¨¦ (£n® uÂμ) 46,000

uØ÷£õøu¯ ö£õÖ¨¦PÎÀ AvP›¨¦ 29,000

15. (a) A project costs Rs. 15,60,000 and yields annually a 
profit of Rs. 2,70,400 after depreciation of 12% p.a. 
but before tax at 25%. Calculate pay-back period. 

  J¸ vmhzvØS ¹. 15,60,000 ö\»ÁõS® ©ØÖ® 12% 
p.a. ÷u´©õÚzvØS¨ ¤ÓS BskUS ¹. 2,70,400 
»õ£® QøhUS®, BÚõÀ Á›US•ß 25%. v¸¨¤a 
ö\¾zx® Põ»zøu PnUQk[PÒ.  

Or 

 (b) List out the factors influencing dividend policy. 

  DÄzöuõøP öPõÒøPø¯ £õv¨¦ PõμoPøÍ 
£mi¯¼k[PÒ. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Differentiate between cost accounting and management 
accounting. 

 ö\»Ä PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯À 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 
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17. The following are the income statements of Jeevan Ltd., 
for the year ending 31st December 2009 and 2008. You are 
required to prepare a comparative income statement for 
the two years. 

 
Particulars 

31.12.2008
Rs. 

31.12.2009
Rs. 

Net sales 10,00,000 12,00,000

Cost of goods sold 5,50,000 6,05,000

Operating expenses : 

Administration 80,000 1,00,000

Selling 60,000 80,000

Non-operating expenses : 

Interest 40,000 50,000

Income-tax 50,000 80,000

 ãÁß ¼ªöhm {ÖÁÚzvß Á¸©õÚ AÔUøPPÒ 31 
i\®£º 2009 ©ØÖ® 2008 CÀ •iÁøhQßÓÚ. Cμsk 
BskPÐUPõÚ J¨¥mk Á¸©õÚ AÔUøPø¯ }[PÒ 
u¯õ›UP ÷Ásk®. 

 
ÂÁμ[PÒ 

31.12.2008
¹. 

31.12.2009
¹. 

{Pμ ÂØ£øÚ 10,00,000 12,00,000

ÂØÓ ö£õ¸mPÎß öPõÒ•uÀ Âø» 5,50,000 6,05,000

C¯UP ö\»ÄPÒ : 

{ºÁõP® 80,000 1,00,000

ÂØ£øÚ 60,000 80,000

ö\¯À£hõu ö\»ÄPÒ : 

Ámi 40,000 50,000

Á¸©õÚÁ› 50,000 80,000



D–6240 
  9

18. Pankajam Ltd., sells goods on cash as well as on credit 
basis. The following information is extracted from their 
books of accounts for 2003 

Particulars Rs. 

Total sales 1,00,000

Cash sales (included in the above) 20,000

Sales returns 7,000

Total debtors for sales as on 31.12.2003 9,000

Bills receivable as on 31.12.2003 2,000

Provision for doubtful debts 1,000

Trade creditors as on 31.12.2003 10,000

 You are required to calculate : 

 (a) Debtors/receivables turnover ratio 

 (b) The average collection period. 

 £[Pá® ¼ªöhm öμõUP©õPÄ® Phß Ai¨£øh°¾® 
ö£õ¸mPøÍ ÂØQÓx. 2003B® BskUPõÚ AÁºPÎß 
PnUS¨ ¦zu[PÎ¼¸¢x ¤ßÁ¸® uPÁÀPÒ 
¤›zöukUP¨£mhÚ. 

ÂÁμ[PÒ ¹. 

ö©õzu ÂØ£øÚ 1,00,000

£nÂØ£øÚ (÷©÷» EÒÍøÁ) 20,000

ÂØ£øÚ Á¸©õÚ® 7,000

31.12.2003 AßÖ ÂØ£øÚUPõÚ ö©õzu PhÚõÎPÒ 9,000

31.12.2003 AßÖ ¤ÀPÒ ö£ÓzuUPøÁ 2,000

\¢÷uPzvØS›¯ PhßPÐUPõÚ JxURk 1,000

31.12.2003 Cß ÁºzuP Phß ÁÇ[S|ºPÒ 10,000

 }[PÒ PnUQh ÷Ásk® 

 (A) PhÚõÎPÒ / ö£ÓzuUP ÂØ£øÚ ÂQu® 

 (B) \μõ\› Á`ÀPõ»®. 
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19. From the following balance sheet of Ponni Ltd., make out 
the statement of cash flow. 

 Balance sheet 

Liabilities 2009  2010 Assets 2009 2010 

Equity share 
capital 

 
3,00,000 

  
4,00,000 

Good will 1,15,000 90,000

Preference share 
capital 

 
1,50,000 

  
1,00,000 

Land and 
buildings 2,00,000 1,70,000

General reserve 40,000  70,000 Plant 98,000 2,00,000

P and L A/c 30,000  48,000 Debtors 1,60,000 2,00,000

Proposed dividend 42,000  50,000 Stock 77,000 1,09,000

Creditors 55,000  83,000 Bills 
receivables 2,000 30,000

Bills payable 20,000  16,000 Cash in hand 15,000 10,000

Provision for tax 40,000  50,000 Cash at bank 10,000 8,000

 6,77,000  8,17,000  6,77,000 8,17,000

 (a) Depreciation of Rs. 10,000 and Rs. 20,000 have been 
charged on plant account and land and buildings 
account respectively in 2010. 

 (b) An interim dividend of Rs. 20,000 has been paid in 
2010. 

 (c) An interim dividend of Rs. 35,000 was paid during 
the year 2010. 

 ö£õßÛ ¼ªöhm {ÖÁÚzvß ¤ßÁ¸® C¸¨¦{ø»U 
SÔ¨¤À C¸¢x, £n¨£õ´Ä AÔUøPø¯ öÁÎ°k[PÒ. 

 C¸¨¦{ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ 2009 2010 ö\õzxUPÒ 2009 2010 
DUÂmi £[S 
‰»uÚ® 

 
3,00,000 

 
4,00,000 

|À» ö£¯º 1,15,000 90,000

•ßÝ›ø© £[S 
‰»uÚ® 

 
1,50,000 

 
1,00,000 

{»® ©ØÖ® 
Pmih[PÒ 2,00,000 1,70,000

ö£õx C¸¨¦ 40,000 70,000 Bø» 98,000 2,00,000
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ö£õÖ¨¦PÒ 2009 2010 ö\õzxUPÒ 2009 2010 
»õ£ |èh PnUS 30,000 48,000 PhÚõÎPÒ 1,60,000 2,00,000
•ßö©õÈ¯¨£mh 
DÄzöuõøP 

 
42,000 

 
50,000 

C¸¨¦ 77,000 1,09,000

Phß 
öPõkzuÁºPÒ 

 
55,000 

 
83,000 

ÁμÄPÒ  2,000 30,000

ö\¾zu ÷Ási¯ 
¤ÀPÒ 

 
20,000 

 
16,000 

øP°À 
£n® 15,000 10,000

Á›UPõÚ HØ£õk 40,000 50,000 Á[Q°À 
£n® 10,000 8,000

 6,77,000 8,17,000  6,77,000 8,17,000

 (A) ©v¨¦U SøÓ¨¦ ¹. 10,000 ©ØÖ® 2010 B® 
BsiÀ Bø» PnUS ©ØÖ® {»® ©ØÖ® 
Pmih[PÒ PnUQÀ •øÓ÷¯ ¹. 20,000 
Á`¼UP¨£mkÒÍÚ. 

 (B) CøhUPõ» DÄzöuõøP 2010B® BsiÀ  
¹. 20,000 ö\¾zu¨£mkÒÍx 

 (C) Á¸©õÚÁ› 2010B® BsiÀ ¹. 35,000 
ö\¾zu££mhx. 

20. Discuss the methods of inflation accounting. 

 £nÃUPU PnUQ¯À •øÓPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

  

 ————————  
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is international marketing? 

 £ßÚõmk \¢øu GßÓõÀ GßÚ? 

2. What do you mean by product planning? 

 ö£õ¸øÍ vmhªkuÀ £ØÔ }Âº AÔÁx GßÚ? 

3. What is meant by MIS? 

 MIS £ØÔ AÔÁx GßÚ? 

4. What is market segmentation? 

 \¢øu £S¨¦ GßÓõÀ GßÚ? 

5. What is counter trade? 

 Gvº ÁºzuP® GßÓõÀ GßÚ? 

6. What is meant by personal selling? 

 BÒ\õº ÂØ£øÚ £ØÔ }Ãº AÔÁx GßÚ? 

Sub. Code 
10251/12551
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7. What is bill of exchange? 

 ©õØÖa^mk GßÓõÀ GßÚ? 

8. What do you mean by star export house? 

 |m\zvμ HØÖ©v CÀ»® £ØÔ }Ãº AÔÁx GßÚ? 

9. What is forward market? 

 •ß÷ÚõUQ¯ \¢øu GßÓõÀ GßÚ? 

10. Expand (a) SEZs (b) OECD. 

 Â›ÁõUSP (A) SEZs (B) OECD. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Bring out the scope of international marketing. 

  £ßÚõmk \¢øu°¯¼ß GÀøPPøÍ u¸P. 

Or 

 (b) What are the problems which are faced by the 
international marketers? 

  £ßÚõmk \¢øu¯õÍºPÒ \¢vUPUTi¯ ¤μa\øÚPÒ 
¯õøÁ? 

12. (a) What are the objectives of marketing research? 

  \¢øu°køP Bμõ´a]°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Briefly discuss the product life cycle concept in 
global marketing. 

  E»PÍõÂ¯ \¢øu°køP°À ö£õ¸Ò B²Ò _ÇØ] 
÷Põm£õmøh _¸UP©õP ÂÁõvUP. 
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13. (a) Write short notes on : (i) advalorem tariff (ii) anti-
dumping. 

  ]Ö SÔ¨¦ ÁøμP (i) ©v¨¦ÂQu AÍÄ Pmhn®  
(ii) Gvº©øÓ Âø»ø¯ vozuÀ. 

Or 

 (b) List out the various functions of packaging. 

  ö£õv©zvß £À÷ÁÖ £oPøÍ £mi¯¼kP. 

14. (a) Write about EXIM policy. 

  EXIM öPõÒøPø¯ £ØÔ GÊxP. 

Or 

 (b) What are the broad categories of export costs? 

  HØÖ©v ö\»ÄPÎß £μ¢u ¤›ÄPÒ ¯õx? 

15. (a) Write a short note on SDRs. 

  SDR £ØÔ ]ÖSÔ¨¦ ÁøμP. 

Or 

 (b) Describe the objectives of the world bank. 

  E»P Á[Q°ß ÷|õUP[PøÍ ÂÁ›UP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the functions of WTO. 

 WTO ß £oPøÍ ÂÁõvUP. 

17. Explain the various product adaptation strategies for 
selling the product in different foreign market. 

 öÁÆ÷ÁÖ A¯À|õmk \¢øu°À ö£õ¸ÒPøÍ 
ÂØ£uØPõÚ £À÷ÁÖ ö£õ¸Ò uÊÁÀ ²Uv vÓøÚ 
ÂÍUSP. 



D–6241 
  4

18. Describe the different factors affecting the selection of 
marketing channels. 

 \¢øu°køP ÁÇ[PÀ ÁÈPøÍ ÷uº¢öuk¨£øu 
£õvUPUTi¯ öÁÆ÷ÁÖ PõμoPøÍ ÂÍUSP. 

19. Describe the concept of bill of lading and enumerate its 
types. 

 P¨£À \μUS Pmhn® GÝ® P¸zvøÚ ÂÁ›UP ©ØÖ® 
AuÝøh¯ ÁøPPøÍ GkzxøμUP. 

20. Assess the categories of factors determining exchange 
rates. 

 ©õØÖ ÂQu[PøÍ {ºn°US® PõμoPÎß ÁøPPøÍ 
©v¨¤kP. 

  

———————— 
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DISTANCE EDUCATION 
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EXAMINATION, DECEMBER 2024. 

Fifth Semester 

RETAIL MARKETING MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is property management? 

 ö\õzx ÷©»õsø© GßÓõÀ GßÚ? 

2. Define property user. 

 ö\õzx £¯Úøμ Áøμ¯ÖUPÄ®. 

3. What is business economy? 

 ÁoP¨ ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

4. Define strategic property management. 

 vÓ® Áõ´¢u ö\õzx ÷©»õsø©ø¯ Áøμ¯ÖUP. 

5. What is meant by merchandising classification? 

 ÁoP ÁøP¨£õk £ØÔ }Ãº AÔÁx GßÚ? 

6. What is FSI? 

 FSI GßÓõÀ GßÚ? 

Sub. Code 
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7. Write a note on “operating budget”. 

 ‘‘C¯UP vmh£mi¯À’’ £ØÔ GÊxP. 

8. Define valuation. 

 ©v¨¥møh Áøμ¯ÖUP. 

9. Give the meaning for security of retail property. 

 ]À»øÓ ö\õzvß £õxPõ¨¤ØPõÚ ö£õ¸øÍ u¸P. 

10. Who are multi-channel retailers? 

 £»uμ¨£mh ÁÇ[PÀ ÁÈ ]À»øÓ ÂØ£øÚ¯õÍºPÒ 
Gß£Áº ¯õº? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Write a note on “Good record keeping”. 

  ‘‘|À» £vÄ øÁzuÀ’’ £ØÔ J¸ SÔ¨ø£ GÊuÄ®. 

Or 

 (b) State the concept of property management. 

  ö\õzx ÷©»õsø©°ß P¸zøu TÖP. 

12. (a) List out the importance of strategic property 
management. 

  vÓ® Áõ´¢u ö\õzx ÷©»õsø©°ß 
•UQ¯zxÁzøu £mi¯¼kP. 

Or 

 (b) Explain about property analysis. 

  ö\õzx £S¨£õ´Ä £ØÔ ÂÍUSP. 
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13. (a) Explain the retail hierarchy. 

  ]À»øÓ ÂØ£øÚ°ß £i{ø»ø¯ ÂÍUSP. 

Or 

 (b) Write down the concept of bench marking. 

  ©mhU SÔ°h¼ß P¸zvøÚ GÊxP. 

14. (a) What are the factors affecting retail property value? 

  ]À»øÓ ö\õzx ©v¨ø£ £õvUS® PõμoPÒ 
¯õøÁ? 

Or 

 (b) Define capital expenditure. Give some examples. 

  ‰»uÚa ö\»øÁ Áøμ¯ÖUPÄ® ]» 
GkzxUPõmkPøÍ u¸P. 

15. (a) Analyse the requirement of retail property. 

  ]À»øÓ ö\õzvß ÷uøÁø¯ £S¨£õ´Ä ö\´P. 

Or 

 (b) Explain display advertising in brief. 

  Põm] ÂÍ®£μzøu _¸UP©õP ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different sources of buying a property. 

 J¸  ö\õzøu Áõ[SÁuØPõÚ £À÷ÁÖ Buõμ[PøÍ 
ÂÍUSP. 

17. Describe the legal aspects of property development. 

 ö\õzx ÷©®£õmiß \mh A®\[PøÍ ÂÁ›UPÄ®. 
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18. Differentiate between pattern classification and owner 
classification. 

 ©õv› ÁøP¨£õk ©ØÖ® E›ø©¯õÍº ÁøP¨£õk 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

19. Elucidate administrative responsibilities of retail 
property manager. 

 ]À»øÓ ö\õzx ÷©»õÍ›ß {ºÁõP¨ ö£õÖ¨¦PøÍ 
öuÎÄ£kzxP. 

20. Explain the various methods to handle competition. 

 ÷£õmiø¯U øP¯õÒÁuØPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is cost sheet? 

 AhUPÂø» £mi¯À GßÓõÀ GßÚ? 

2. Write a note on VED analysis. 

 VED £S¨£õ´Ä £ØÔ SÔ¨¦ GÊxP. 

3. What is meant by labour turnover? 

 öuõÈ»õÍº _ÇØ] £ØÔ AÔÁx GßÚ? 

4. Define the term overheads. 

 ÷©Øö\»ÄPÒ GÝ® £uzøu Áøμ¯ÖUP. 

5. What is target costing? 

 C»US ö\»Ä GßÓõÀ GßÚ? 

6. What do you mean by abnormal loss? 

 A\õuõμn |mh® £ØÔ }Âº AÔÁx GßÚ? 

Sub. Code 
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7. State any two objectives of operating costing. 

 C¯UP AhUPÂø»°¯¼ß H÷uÝ® Cμsk 
÷|õUP[PøÍz u¸P. 

8. Write note on EBQ. 

 EBQ £ØÔ SÔ¨¦ GÊxP. 

9. Mention any two advantages of standard costing. 

 uμ AhUPÂø»°¯¼ß H÷uÝ® Cμsk |ßø©PøÍU 
SÔ¨¤kP. 

10. What is meant by cost reduction? 

 ö\»ÄU SøÓzuÀ £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Briefly explain the classifications of cost on the 
basis of functions. 

  ö\¯À£õkPÎß Ai¨£øh°À ö\»Âß 
ÁøP¨£õkPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) Calculate economic order quantity from the 
following information. 

  Annual consumption 1600 units 

  Cost of materials per unit Rs. 40 

  Cost of placing and receiving one order Rs. 50 

  Carrying cost per annum 10%. 
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ]UPÚ Bøn AÍøÁ 
PnUQkP. 

  Bsk £¯ß£õk 1600 A»SPÒ 

  J¸ A»SUPõÚ ‰»¨ö£õ¸ÎPÒ ö\»Ä ¹. 40 

  J¸ Bønø¯ øÁ¨£uØS® ö£ÖÁuØS® BS® 
ö\»Ä ¹. 50 

  J¸ BskUS›¯ Gkzxa ö\À¾® ö\»Ä 10%. 

12. (a) Bring out the essential characteristics of a good 
wage system. 

  J¸ |À» T¼ •øÓ°ß ]Ó¨¤¯À¦PøÍ öÁÎU 
öPõnºP. 

Or 

 (b) Calculate direct labour hour rate from the following. 

Total number of workers – 100 

Working days in a year – 300 

No. of hours per day worked – 8 

Idle time – 5% 

Factory overheads – Rs. 11,400

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x ÷|μiUT¼ ÷|μ ÂQuzøu 
PnUQkP. 

öuõÈ»õÍºPÎß ö©õzu GsoUøP – 100 

J¸ Á¸hzvÀ ÷Áø» |õmPÒ – 300 

J¸ |õøÍUS ÷Áø» ö\´²® ©o 
÷|μ[PÎß GsoUøP 

– 8 

ö\¯»ØÓ ÷|μ® – 5% 

Bø» ÷©Øö\»ÄPÒ – ¹. 11,400 
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13. (a) State the features of contract costing. 

  J¨£¢u AhUPÂø»°¯¼ß C¯À¦PøÍz u¸P. 

Or 

 (b) Sekar & Co., produces a product through two 
processes J and K. Prepare the process accounts 
from the following details relating to March 2007. 

 
Particulars 

Process J
Rs. 

Process K
Rs. 

Material 45,000 15,000

Labour 60,000 25,000

Factory expenses 5,000 10,000

  The overheads amounting to Rs. 17,000 are to be 
apportioned on the basis of labour. 

  ÷\Pº & ÷Põ J ©ØÖ® K BQ¯ Cμsk £i{ø»PÒ 
‰»® J¸ u¯õ›¨ø£z u¯õ›UQÓx. ©õºa 2007 
öuõhº£õÚ ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £i{ø»U 
PnUSPøÍ u¯õ›UP. 

 
ÂÁμ[PÒ 

£i{ø» J
¹. 

£i{ø»  K
¹. 

Pa\õ¨ ö£õ¸mPÒ 45,000 15,000

T¼ 60,000 25,000

öuõÈØ\õø» ö\»ÄPÒ 5,000 10,000

  ÷©Øö\»ÄPÒ ¹. 17,000 T¼°ß Ai¨£øh°À 
¤›zx öPõkUP¨£kQßÓÚ. 

14. (a) From the following information, calculate total 
kilometers and total passenger kilometers. 

Number of buses – 5 
Trips made by each bus – 4 
Distance of route – 20 Kms (one way) 
Days operated in a month – 25 
Capacity in each bus – 50 passengers 
Normal passengers travelled – 90% of the capacity
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  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö©õzu Q÷»õ«mhºPÒ 
©ØÖ® ö©õzu £¯oPÒ Q÷»õ«mhºPøÍU 
PnUQkP. 

÷£¸¢xPÎß GsoUøP  – 5 

JÆöÁõ¸ ÷£¸¢v¾® ÷©ØöPõÒÍ¨£k® 
£¯n[PÒ 

– 4 

£õøu°ß yμ® – 20 Q« (J¸ 
ÁÈ) 

J¸ ©õuzvÀ ö\¯À£k® |õmPÒ – 25 

÷£¸¢vß öPõÒÍÍÄ – 50 £¯oPÒ 

  \õuõμn©õP 90% öPõÒÍÍÄ £¯oPÒ £¯n® 
ö\´QÓõºPÒ. 

Or 

 (b) What is batch costing? How does it differ from job 
costing? 

  öuõSv AhUPÂø»°¯À GßÓõÀ GßÚ? Ax £o 
AhUPÂø»°¯¼¸¢x GÆÁõÖ ÷ÁÖ£kQßÓx? 

15. (a) From the following detail calculate : 

  (i) Sales volume variance 

  (ii) Sales price variance 

  (iii) Sales value variance. 

Budget Actual  
Product Qty Price Sales 

(Rs.) 
Qty Price Sales 

(Rs.) 

A 8,000 12 96,000 9,000 11 99,000 

B 12,000 9 1,08,000 6,000 10 60,000 

  RÌUPsh uPÁÀPÎ¼¸¢x  

  (i) ÂØ£øÚ AÍÄ ©õÖ£õk 

  (ii) ÂØ£øÚ Âø» ©õÖ£õk 

  (iii) ÂØ£øÚ ©v¨¦ ©õÖ£õk PnUQkP. 
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vmh® Esø© ö£õ¸Ò 
AÍÄ Âø» ÂØ£øÚ (¹.) AÍÄ Âø» ÂØ£øÚ (¹.)

A 8,000 12 96,000 9,000 11 99,000 
B 12,000 9 1,08,000 6,000 10 60,000 

Or 

 (b) List out the advantages of cost control. 

  ö\»Ä Pmk¨£kzu¼ß |ßø©PøÍ £mi¯¼kP.  

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. From the following information prepare a cost sheet for 
the month of December 2014. 

Particulars Rs. 

Raw materials 01.12.2014 25,000

Work in progress 01.12.2014 8,200

Finished goods 01.12.2014 17,300

Raw materials 31.12.2014 26,200

Work in progress 31.12.2014 9,100

Finished goods 31.12.2014 15,700

Purchase of raw materials 21,900

Carriage on purchase 1,100

Sale of finished goods 72,300

Direct wages 17,200

Non productive wages 800

Direct expenses 1,200

Factory overheads 8,300

Administration overheads 3,200

Selling and distribution overheads 4,200
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x i\®£º 2014UPõÚ 
AhUPÂø» uõøÍ u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. 

‰»¨ö£õ¸ÒPÒ 01.12.2014 25,000

£o°À ÁÍºa] 01.12.2014 8,200

•iÄØÓ ö£õ¸ÒPÒ 01.12.2014 17,300

‰»¨ö£õ¸ÒPÒ 31.12.2014 26,200

£o°À ÁÍºa] 31.12.2014 9,100

•iÄØÓ ö£õ¸ÒPÒ 31.12.2014 15,700

‰»¨ö£õ¸mPÒ Áõ[Q¯x 21,900

öPõÒ•uÀ ö\»Ä 1,100

•iÄØÓ ö£õ¸ÒPÒ ÂØ£øÚ 72,300

÷|μiU T¼ 17,200

EØ£zv\õμõu T¼ 800

÷|μiö\»ÄPÒ 1,200

Bø» ÷©Øö\»ÄPÒ 8,300

{ºÁõP ÷©Øö\»ÄPÒ 3,200

ÂØ£øÚ ©ØÖ® £Qº¢uÎ¨¦ ö\»ÄPÒ 4,200

17. In a manufacturing company a daily wage rate 
guaranteed for a worker is Rs. 250 and the standard 
output fixed for the month is 1,000 articles representing 
100% efficiency. The daily wage rate is without bonus to 

those workers who show up to 
3
2

66  percent of the 

efficiency standard. Beyond this there is a bonus payable 
in a graded scale in a fixed ration to the increased output 
as follows: 
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Efficiency Bonus payable

90% 10% 

100% 20% 

 Further increase of one percent bonus for every one 
percent further rise in efficiency. Workers output is : A – 
600 articles, B – 900 articles, C – 1000 articles and D – 
1080 articles. Find out the total earnings of A, B, C and D 
who have worked for 26 days in a month. 

 J¸ EØ£zv {ÖÁÚzvÀ J¸ öuõÈ»õÎUS 
EzvμÁõu©ÎUP¨£mh vÚUT¼ ¹. 250 BS®. 100% 
vÓø©ø¯U SÔUS® J¸ ©õuzvØPõÚ vmh EØ£zv 1000 

ö£õ¸mPÒ BS®. vÓø© 
3
2

66  \uÃuzvØS 

SøÓÁõPÄÒÍ ÷Áø»¯õmPÐUS vÚUT¼ ©mk®. 
÷©¾v¯® CÀ»õ©À AÎUP¨£kQÓx. CuØS ÷©À 
vÓø©²ÒÍÁºPÐUS ÷©¾v¯® ¤ßÁ¸©õÖ 
ÁÇ[P¨£kQÓx. 

vÓø© ö\¾zuUTi¯ ÷£õÚì

90% 10% 

100% 20% 

 CuØS ÷©Ø£mh JÆöÁõ¸ \uÃu vÓø© AvP›¨¦US® 
JÆöÁõ¸ \uÃu ÷©¾v¯® AÎUP¨£k®. öuõÈ»õÍ›ß 
EØ£zv A – 600 ö£õ¸mPÒ, B – 900 ö£õ¸ÒPÒ, C – 1000 
ö£õ¸ÒPÒ ©ØÖ® D – 1080 ö£õ¸ÒPÒ, J¸ ©õuzv¾ÒÍ 
26 |õmPÎÀ ÷Áø» ö\´u A, B, C ©ØÖ® D 
BQ÷¯õ¸øh¯ ö©õzu Fu¯zøuU Psk¤iUP. 

18. A product passes through two processes and then to 
finished stock. The normal wastage of each process is as 
follows : 

 Process A – 30% and process B – 5%. The wastage of 
process A was sold @ Rs. 5 per unit and that of process B 
at Rs. 10 per unit 20,000 units were introduced into 
process A at the beginning of January 2007 at a cost at 
Rs. 40 per unit. Other expenses were as under: 
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Particulars Process A (Rs.) Process B (Rs.)

Sundry materials 40,000 60,000

Wages 2,00,000 3,20,000

Manufacturing expenses 30,000 28,500

Output (in units) 19,000 18,200

 Prepare the process account, normal loss account, 
abnormal loss account and abnormal gain account. 

 J¸ {ÖÁÚzvÀ J¸ ö£õ¸Ò Cμsk £i{ø»PøÍ Ph¢x 
•iÄØÓ ö£õ¸ÍõP ©õÖQßÓx. JÆöÁõ¸ £i{ø»°¾® 
\õuõμn CÇ¨¦ ¤ßÁ¸©õÖ.  

 £i{ø» A – 30% £i{ø» B – 5%. A £i{ø»°À HØ£mh 

PÈÄ J¸ A»QØS ¹. 5US ÂØP¨£mhx. B £i{ø»°À 
HØ£mh PÈÄ J¸ A»QØS ¹. 10US ÂØ£øÚ 

ö\´¯¨£mhx. áÚÁ› 2017À £i{ø» A°À 20,000 
A»SPÒ ¹. 40 Ãu® AÔ•P¨£kzu¨£mhx. Cuμ 
ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ. 

Â£μ[PÒ £i{ø» A £i{ø» B 

Cuμ ‰»¨ö£õ¸ÒPÒ 40,000 60,000

T¼ 2,00,000 3,20,000

EØ£zv ö\»ÄPÒ 30,000 28,500

öÁÎ±mk ö£õ¸ÒPÒ (A»SPÎÀ) 19,000 18,200

 £i{ø» PnUSPÒ, \õuõμn CÇ¨¦ PnUS, A\õuõμn 
CÇ¨¦U PnUS ©ØÖ® A\õuõμn C»õ£U PnUSPøÍ 
u¯õº ö\´P. 

19. Laxmi Travels, a transport company is running a fleet of 
six buses between two towns 75 kms. apart. The seating 
capacity of each bus is 40 passengers. The following 
particulars are available for the month of April 2007. 
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Particulars Rs. 

Wages of drivers, conductors, etc 3,600

Salaries of office and supervisory staff 1,500

Diesel oil 10,320

Repairs and maintenance 1,200

Taxes and insurance 2,400

Depreciation 3,900

Interest and other charges 3,000

 The actual passengers carried were 80% of the capacity. 
All the buses run all the days in a month. Each bus made 
one round trip per day. Find out the cost per passenger 
kilometer. 

 »m_ª iμõÁÀì GÝ® ÷£õUSÁμzx {ÖÁÚ® C¸ 
|Pμ[PÐUS Cøh÷¯ 75 Q« öuõø»ÂÀ BÖ 
÷£¸¢xPøÍ C¯UQ Á¸QÓx. JÆöÁõ¸ ÷£¸¢v¾® 40 
£¯oPÒ C¸UøP Á\v EÒÍx. H¨μÀ 2007 ©õuzvØPõÚ 
¤ßÁ¸® ÂÁμ[PÒ QøhUQßÓÚ. 

ÂÁμ[PÒ ¹. 

Kmk|ºPÒ ©ØÖ® |hzxÚ›ß Fv¯® 3,600

A¾Á»P ©ØÖ® ÷©Ø£õºøÁ FÈ¯ºPÎß \®£Í® 1,500

j\À, Gsön´ 10,320

£Êx ©ØÖ® £Êx£õº¨¦ 1,200

Á› ©ØÖ® Põ¨¥k 2,400

÷u´©õÚ® 3,900

Ámi ©ØÖ® Cuμ Pmhn[PÒ 3,000

 ÷£¸¢xPÎÀ Esø©¯õÚ £¯oPÎß öPõÒÍÍÄ 80% 
BS®. J¸ ©õuzvÀ AøÚzx |õmPÎ¾® AøÚzx 
÷£¸¢xPÐ® C¯[SQÓx. JÆöÁõ¸ ÷£¸¢x® J¸ 
|õøÍUS J¸ £¯n® ÷©ØöPõshx. £¯oPÒ Q÷»õ 
«mh¸US GÆÁÍÄ ö\»ÁõS® Gß£øuU PshÔP. 
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20. SV Ltd. has furnished the following data. 

Particulars Budgeted Actual (March 2014)

Number of working days 25 27 

Production (units) 20,000 22,000 

Fixed overheads (Rs.) 30,000 31,000 

 Calculate various fixed overhead variances. 

 Gì Â ¼ªöhm ¤ßÁ¸® uPÁÀPøÍ AÎUQÓx 

Â£μ[PÒ vmhªh¨£mhx ©õºa 2014 {»Áμ®

÷Áø»|õmPÒ 25 27 
EØ£zv (A»SPÒ) 20,000 22,000 
{ø»¯õÚ ÷©Øö\»ÄPÒ (¹.) 30,000 31,000 

 £À÷ÁÖ {ø»¯õÚ ÷©Øö\»Ä ÷ÁÖ£õkPøÍU PnUQkP. 

———————— 
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(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is project management? 
 vmh ÷©»õsø© GßÓõÀ GßÚ? 

2. Who is a project manager? 
 vmh ÷©»õÍº Gß£Áº ¯õº? 

3. State any two characteristics of diversity management. 
 £ÀÁøP ÷©»õsø©°ß H÷uÝ® Cμsk 

]Ó¨¤¯À¦PøÍ u¸P. 

4. What is project scheduling? 
 vmh AmhÁøn GßÓõÀ GßÚ? 

5. Define the term ‘Quality’. 

 ‘uμ®’ GßÓ ö\õÀø» Áøμ¯ÖP. 

6. What is project management information system? 
 vmh÷©»õsø© uPÁÀ Aø©¨¦ GßÓõÀ GßÚ? 

Sub. Code 
10254/12554/ 
12354/12854
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7. What do you mean by purchase cycle? 

 öPõÒ•uÀ_ÇØ] £ØÔ }Ãº AÔÁx GßÚ? 

8. What is project control system? 

 vmh Pmk¨£õmk Aø©¨¦ GßÓõÀ GßÚ? 

9. What is project closure? 

 vmh ‰hÀ GßÓõÀ GßÚ? 

10. What is meant by project management software?  

 vmh ÷©»õsø© ö©ßö£õ¸Ò £ØÔ }Ãº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) Briefly explain the principles of project 
management. 

  vmh ÷©»õsø©°ß öPõÒøPPøÍ _¸UP©õP 
ÂÍUSP. 

Or 

 (b) List out the benefits of project planning. 

  ö\¯Àvmh ÁøμÄ vmhzvß |ßø©PøÍ¨ 
£mi¯¼kP. 

12. (a) State the characteristics of team management. 

  SÊ ÷©»õsø©°ß ]Ó¨¤¯À¦PøÍ u¸P. 

Or 

 (b) What are the characteristics of CPM? 

  CPM ß £s¦PÒ ¯õøÁ? 
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13. (a) Explain the techniques of quantitative risk analysis. 
  AÍÄ\õº Chº £S¨£õ´Âß ~m£[PøÍ ÂÍUSP. 

Or 

 (b) How do you implement PMIS? Explain. 

  PMISI GÆÁõÖ ö\¯À£kzxQÕºPÒ? ÂÍUSP. 

14. (a) Briefly explain the different stages of purchasing 
cycle. 

  öPõÒ•uÀ _ÇØ]°ß öÁÆ÷ÁÖ {ø»PøÍ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) What are the benefits of project performance 
measurement? 

  vmh ö\¯ÀvÓß AÍÃmiß |ßø©PÒ ¯õøÁ? 

15. (a) What are the reasons for termination of projects? 
  vmh[PÒ {Öu¨£kÁuØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) What are the benefits of using project management 
software? 

  vmh ÷©»õsø© ö©ßö£õ¸øÍ¨ £¯ß£kzxÁuß 
|ßø©PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the project identification process in detail. 
 vmhzøu PshÔÁuØUPõÚ ö\¯À•øÓPøÍ ÂÁõvUP. 

17. Bring out the advantages and disadvantages of PERT 
analysis.  

 PERT £S¨£õ´Âß |ßø©PÒ ©ØÖ® wø©PøÍ öÁÎU 
öPõnºP. 
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18. Describe the steps involved in project risk management 
process. 

 vmh Chº ÷©»õsø© ö\¯À£õmiÀ EÒÍ £iPøÍ 
ÂÁ›UP. 

19. Examine the different techniques of performance 
measurement. 

 ö\¯ÀvÓß AÍÃmiß £À÷ÁÖ ~m£[PøÍ Bμõ´P. 

20. What makes good project management software? 
Explain. 

 |À» vmh ÷©»õsø© ö©ßö£õ¸øÍ E¸ÁõUSÁx Gx? 
ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2024. 

Sixth Semester 

MARKETING RESEARCH 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What is marketing research? 

 \¢øu¨£kzuÀ Bμõ´a] GßÓõÀ GßÚ? 

2. Write a short note on research design. 

 Bμõ´a] ÁiÁø©¨ø£¨ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

3. State the meaning of primary data. 

 •ußø© uμÄPÎß ö£õ¸øÍU SÔ¨¤kP. 

4. How do you measurement of scaling techniques? 

 AÍÂk® ~m£zøu }Âº GÆÁõÖ AÍÂkÃºPÒ. 

5. Write a short note on sampling. 

 ©õv›ø¯¨ £ØÔ J¸ ]Ö SÔ¨¦ ÁøμP. 

6. What is hypothesis testing? 

 AÝ©õÚ[PÒ ÷\õuøÚ GßÓõÀ GßÚ? 

Sub. Code 
10261/12561
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7. What does ANOVA stands for? 

 ANOVA Gß£x GøuU SÔUQÓx? 

8. What is correlation? 

 Ehßöuõhº¦ GßÓõÀ GßÚ? 

9. State the meaning of research report. 

 Bμõ´a] AÔUøP°ß ö£õ¸øÍU SÔ¨¤kP. 

10. Give the meaning of online marketing research. 

 CøÚ¯ÁÈ \¢øu¨£kzuÀ Bμõ´a]°ß ö£õ¸øÍ u¸P. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) State the components of research proposal. 

  Bμõ´a] •ßö©õÈÂß TÖPøÍU SÔ¨¤kP. 

Or 

 (b) Briefly explain the various types of research. 

  £À÷ÁÖ ÁøP¯õÚ Bμõ´a]UPõÚ _¸UP©õP 
ÂÍUSP. 

12. (a) Explain the process of questionnaire design. 

  ÷PÒÂzuõÒ ÁiÁø©¨¤ß ö\¯À•øÓø¯ 
ÂÍUSP. 

Or 

 (b) Explain the fundamental properties of scaling 
measurement. 

  AÍÂkuÀ AÍÃmiß Ai¨£øh £s¦PøÍ 
ÂÍUSP. 
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13. (a) What are the classification of probability sampling 
techniques? 

  {PÌuPÄ ©õv› ~m£zvß ÁøP¨£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the test of significance of difference 
between two means. 

  Cμsk ÁÈ•øÓPÐUS Cøh°»õÚ •UQ¯zxÁ 
÷ÁÖ£õkPÎß ÷\õuøÚø¯ ÂÍUSP. 

14. (a) Explain the different types of measures of 
dispersion. 

  £À÷ÁÖ ÁøP¯õÚ ]uÓÀ AÍÃmk ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) What are the tests for normality and outliers? 
  C¯À¦{ø» ©ØÖ® öÁÎ¯õmPÐhUPõÚ 

÷\õuøÚPÒ ¯õøÁ? 

15. (a) State the components of report writing. 
  AÔUøP GÊxÁuß TÖPøÍU SÔ¨¤kP. 

Or 

 (b) What are the characteristics of marketing 
information system? 

  \¢øu¨£kzuÀ uPÁÀ Aø©¨¤ß £s¦PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Enumerate the methods of data collection. 
 uμÄ ÷\P›¨¦ •øÓPøÍ £mi¯¼kP. 

17. Explain the importance of measurement and scaling in 
marketing research. 

 \¢øu¨£kzuÀ Bμõ´a]°ß AÍÃkPÒ ©ØÖ® 
AÍÂku¼ß •UQ¯zxÁzøu²® ÂÍUSP. 
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18. State the importance of sampling in marketing research. 

 \¢øu¨£kzuÀ Bμõ´a]°À ©õv›°ß •UQ¯zxÁzøuU 
SÔ¨¤kP. 

19. Describe the nature and scope of data preparation. 

 uμÄ u¯õ›¨¤ß ußø© ©ØÖ® GÀø»PøÍ ÂÁ›UP. 

20. Explain the style and layout of a report. 

 J¸ AÔUøP°ß |øh ©ØÖ® ÁiÁø©¨ø£ ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2024. 

Sixth Semester 

CORPORATE ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. What do you mean by authorized capital? 

 A[RP›UPP¨£mh •uÀ £ØÔ }Ãº AÔÁx GßÚ? 

2. State the various methods for redemption of preference 
shares. 

 •ßÝ›ø© £[SPøÍ «m£uØPõÚ £À÷ÁÖ •øÓPøÍ 
TÖP. 

3. Mention the various methods of valuation of shares. 

 £[SPøÍ ©v¨¤k® £À÷ÁÖ •øÓPøÍ TÖP. 

4. List out the various factors affecting the valuation of 
goodwill. 

 |Øö£¯º ©v¨¤øÚ £õvUS® £À÷ÁÖ PõμoPøÍ 
£mi¯¼kP. 

5. What is amalgamation? 

 KßÖ ÷\ºzuÀ GßÓõÀ GßÚ? 

Sub. Code 
10262/12562
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6. Write a note on alteration of share capital. 

 £[S •uø» ©õØÖÁx £ØÔ SÔ¨¦ GÊxP. 

7. What is holding company? 

 ¤i¨¦ {Ö©® GßÓõÀ GßÚ? 

8. What is liquidator’s final statement of account? 

 Pø»¨£õÍ›ß CÖv AÔUøP PnUS GßÓõÀ GßÚ? 

9. What are the items to be shown under schedule 13? 

 AmhÁøn 13ß RÌ Põn¨£k® CÚ[PÒ ¯õøÁ? 

10. What do you mean by human resources accounting? 

 ©Ûu ÁÍ PnUQ¯ø»¨ £ØÔ }Âº AÔÁx ¯õx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) A company forfeited 500 shares of Rs. 10 each 
(issued at a premium of 10%) for non payment of the 
first call Rs. 3, final call Rs. 2, of these 200 shares 
were reissued at a discount of 10% pass necessary 
journal entries in the books of the company. 

  J¸ {Ö©® 10% •øÚ©zvÀ öÁÎ°mh 10 ¹£õ´ 
©v¨¦ EÒÍx 500 £[SPøÍ, 3 ¹£õ´ •uÀ 
AøÇ¨¦®, 2 ¹£õ´ CμshõÁx AøÇ¨¦US® 
£n® uμõuuõÀ £[SPÒ JÖ¤Ç¨¦ ö\´¯¨£mhx. 
CvÀ 200 £[SPÒ 10% uÒÐ£i°À ©Ö öÁÎ±k 
ö\´¯¨£mhx. CuØPõÚ •uØSÔ¨÷£mk £vÄPøÍ 
P®ö£Û°ß HkPÎÀ u¸P. 

Or 
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 (b) In 2017, X Ltd., redeemed Rs. 1,00,000 preference 
shares by converting them into equity shares issued 
at 25% premium. What entries can be made for the 
redemption by the company. 

  2017À X ¼ªöhm ¹. 1,00,000UPõÚ •ßÝ›ø© 
£[SPøÍ, 25% •øÚ©zvÀ \õuõμn £[SPøÍ 
öÁÎ±mk •ßÝ›ø© £[SPøÍ «mhx. CuØPõÚ 
•uÀ SÔ¨÷£mk £vÄPøÍ («m¦UPõÚ £vÄPøÍ) 
u¸P. 

12. (a) Calculate the amount of goodwill on the basis of the 
three years purchase of the last five years average 
profits. The profits for the last five years are as 
follows. 

  First year – Rs. 4,800, Second year – Rs. 7,200, 
Third year – Rs. 10,000, Fourth year – Rs. 3,000, 
Fifth year – Rs. 5,000. 

  5 Bsk \μõ\› C»õ£zvß ‰ßÖ Bsk 
öPõÒ•uÀ Ai¨£øh°À |Øö£¯øμ PnUQkP. 
A¢u {ÖÁÚzvß Ph¢u 5 Bsk C»õ£® 
¤ßÁ¸©õÖ. 

  •u»õ® Bsk – ¹. 4,800, Cμshõ® Bsk –  
¹. 7,200, ‰ßÓõ® Bsk – ¹. 10,000, |õßPõ® 
Bsk – ¹. 3,000, I¢uõ® Bsk – ¹. 5,000. 

Or 

 (b) B Ltd has 10,000 equity shares of Rs. 10 each and 
1,00,000, 6% preference shares of Rs. 10 each fully 
paid. The company has a practice of transferring 
20% of the profits to general reserve every year. If 
the expected profits before tax is Rs. 2,00,000 and 
the rate of tax is 50%. Calculate the value of equity 
shares. (Normal rate of dividend is 20%). 
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  B¼ªöhmiÀ 10,000 \õuõμn £[SPÒ u»õ ¹. 10 
Ãu•®, 1,00,000, 6% •ßÝ›ø©¨£[SPÒ ¹. 10 
Ãu•® EÒÍx. JÆöÁõ¸ Á¸h•® »õ£zvÀ 20% 
ö£õxPõ¨¤ØS ©õØÓ¨£kQÓx. Á›US •¢øu¯ 
Gvº£õºUP¨£k® »õ£® ¹. 2,00,000 ©ØÖ® 
Á›ÂQu® 50%. £[S ©v¨¤øÚ PnUQkP. 
(\õuõμn £[Põuõ¯ ÂQu® 20%) 

13. (a) A purchasing company agrees to issue three shares 
of Rs. 10 each paid up at market value of Rs. 15 per 
share fro every 5 shares in the vendor company. 
Find out the number and amount of shares to be 
issued by the purchasing company if the vendor 
company has 1,00,000 shares of the Rs. 10 each,  
Rs. 5 paid up. 

  J¸ Áõ[S® {Ö©® ÂØS® {Ö©zvß JÆöÁõ¸ 5 
£[SPÐUS®, 10 ¹£õ´ ©v¨¦ÒÍ ‰ßÖ £[SPøÍ 
(\¢øu ©v¨¦ £[S JßÖUS ¹. 15) öPõk¨£uõP 
J¨¦U öPõshx. ¹. 10 ©v¨¦ÒÍ ¹. 5 ö\¾zu¨mh 
1,00,000 £[SPøÍ ÂØS® {Ö©® ö£ØÔ¸US® 
÷£õx GzuøÚ £[SPøÍ GÆÁÍÄ öuõøPUS 
Áõ[S® {Ö©® £[SPøÍ öÁÎ°h ÷Ásk® GßÖ 
Psk¤iUPÄ®. 

Or 

 (b) B Ltd agreed to absorb A Ltd upon the following 
terms : 

  Shares of A Ltd are to be considered as worth Rs. 12 
each (of which shareholders are to be paid one 
quarter in cash and the balance in Rs. 100 shares of 
B Ltd which are to be issued at 25% premium) total 
shares were 10,000 in B Ltd and 20,000 in A Ltd. 
Ascertain the number of shares to be issued by B 
Ltd. 
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  B ¼ªöhm Gß£x A ¼ªöhmøh Dº¨¦ ö\´¯ 
¤ßÁ¸® {£¢uøÚ Âvzux. 

  A ¼ªöhmiÀ EÒÍ £[Qß Âø» ¹. 12 Ãu® 
BS®. (AvÀ 1/4 £[øP öμõUP©õPÄ® «vø¯  
B ¼ªöhmiß ¹. 100 £[QøÚ 25% •øÚ©zvÀ 
öÁÎ°kÁx) ö©õzu £[SPÒ B ¼ªöhm 10,000 
©ØÖ® A ¼ªöhm 20,000 £[SPÒ. B ¼ªöhmiÚõÀ 
öÁÎ°h ÷Ási¯ £[SPÎß GsoUøPø¯ 
PõsP.  

14. (a) Prepare liquidators final statement of account 

 Rs.  Rs. 

Cash at bank 1,00,000 Preferential creditors 2,00,000

Surplus from securities 10,10,000 Unsecured creditors 7,00,000

Expenses of liquidation 30,000 Preference shareholders 1,00,000

Liquidators remuneration 7,000 Equity shareholders 1,00,000

  Pø»¨£õÍ›ß CÖv AÔUøP PnUøP u¯õ›UP. 

 ¹.  ¹. 

Á[Q öμõUP®  
1,00,000 

•ßÝ›ø©  

ö£ØÓ PhÜ¢÷uõº 2,00,000

¤øn¯[PÒ «uõÚ 
E£› 

10,10,000 ¤øn¯©ØÓ 
PhÜ¢÷uõº 

7,00,000

Pø»¨¤ØPõÚ 
ö\»Ä 

30,000 •ßÝ›ø© 
£[PõÍºPÒ 

1,00,000

Pø»¨£õÍº Fv¯® 7,000 \õuõμn £[SuõμºPÒ 1,00,000

Or 

 (b) A limited (holding company) acquired 6,000 equity 
shares of B limited (face value of a  share is Rs. 10) 
at Rs. 1,00,000 on 01.04.2010. Total number of 
shares issued by B limited is 8,000. The balance 
sheet of B limited as on 31.12.2009 shows reserves 
Rs. 30,000 and profit and loss account (Cr)  
Rs. 50,000. During the year ended 31.12.2010,  
B limited has made a profit of Rs. 20,000 calculate 
the value of goodwill / capital reserve. 
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  {Ö©® A (¤i¨¦ {Ö©®) 1.4.2010 AßÖ B 
{Ö©zvß 6000 £[SPøÍ (J¸ £[Qß •P ©v¨¦ 

¹. 10) ¹. 1,00,000 öPõkzx Áõ[Q¯x B {Ö©zvß 

ö©õzu £[SPÒ öÁÎ±k 8000 BS®. 31.12.2009 

AßÖ B {Ö© C¸¨¦ {ø»USÔ¨¤À JxURk ¹. 

30,000 ©õPÄ® ©ØÖ® C»õ£ |mh PnUS (ÁμÄ) ¹. 
50,000 ©õPÄ® C¸¢ux i\®£º 31À •iÁøh²® 

2010® BsiÀ B {Ö©zvß C»õ£z öuõøP ¹. 

20,000 BS®. |ß©v¨¦ / •uÀ Põ¨¤ß ©v¨ø£U 

PõsP. 

15. (a) Write a short notes on life assurance fund. 

  B²Ò Põ¨¥mk {vø¯ £ØÔ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) List out the various schedules prepared by a 

commercial bank. 

  ÁoP Á[QPÒ u¯õ›US® £À÷ÁÖ 
AmhÁønPøÍ £mi¯¼kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Anbu Ltd invited application for 10,000 shares of Rs. 100 

each at a discount of 5% payable as follows. 

 On application Rs. 25, on allotment Rs. 34, on first and 

final call Rs. 36. Application were received for 10,000 

shares and all of these were accepted. All money due 

were received except the first and final call on 100 shares, 

which were forfeited of the forfeited shares 80 shares 

were reissued at the rate of Rs. 90. Pass journal entries. 
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 Aß¦ ¼ªöhm 5% uÒÐ£i°À 10,000 £[SPÒ u»õ  
¹. 100 Ãu® ö£õx©UPÎh® Âsn¨£® ÷Põ›¯x. AøÁ 
¤ßÁ¸©õÖ ö\¾zu¨£kQÓx. Âsn¨£ Pmhn©õP  
¹. 25 JxURk «x ¹. 34, •uÀ ©ØÖ® CÖv AøÇ¨¦ 
öuõøP¯õP ¹. 36, Âsn¨£[PÍõÚx 10,000 
£[SPÐUS ö£Ó¨£mhx. 100 £[SPÐUS›¯ •uÀ 
©ØÖ® CÖv AøÇ¨¦z öuõøP uÂμ AøÚzx 
£[SPÐUPõÚ £n•® ö£Ó¨£mhx. 100 £[SPÒ 
£Ô•uÀ ö\´¯¨£mhx. AÁØÔß 80 £[SPÒ u»õ ¹. 90 
Ãu® ©ÖöÁÎ±k ö\´¯¨£mhÚ. SÔ¨÷£mk¨ £vÄPøÍ 
u¸P. 

17. From the following particulars relating to the business of 
Mr. Kumar. Compute the value of goodwill on the basis of 
4 years purchase of super profits taking average of last 
four years. 

Capital invested – Rs.1,20,000

Market rate of return on investment – 12% 

Rate of risk of return on capital invested – 3% 

Managerial remuneration of the proprietor – 30,000 p.a. 

 Trading results : 2015 profit – Rs. 60,000, 2016 profit – 
Rs. 72,000, 2017 profit – Rs. 8,000, 2018 profit – Rs. 
88,000. 

 ¤ßÁ¸® Â£μ©õÚx S©õº AÁºPÎß Áõo£z÷uõk 
öuõhº¦øh¯x. Ph¢u 4 Á¸h ªøP C»õ£ öPõÒ•uÀ 
Ai¨£øh°À |Øö£¯øμU PõsP. 

•u½k ö\´ux – ¹.1,20,000

•u½k «uõÚ \¢øu Ãu® – 12% 

•u½k «uõÚ Chº Ãu® – 3% 

E›ø©¯õÍ›ß ÷©»õsø© Fv¯® 
Á¸hzvØS 

– 30,000 p.a.

 Â¯õ£õμ •iÄPÒ 2015 C»õ£® – ¹. 60.000, 2016 
C»õ£® – ¹. 72.000, 2017 C»õ£® – ¹. 8.000, 2018 
C»õ£® – ¹. 88.000. 
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18. The following scheme of reconstruction approved by  
A Ltd. 

 (a) The share holder to received in lieu of their present 
holding of 1,00,000 share of Rs. 10 each the 
following. 

  (i) Fully paid ordinary shares equal to 2/5 of their 
holdings 

  (ii) 5% preference share to the extent of 1/5 of the 
above ordinary shares. 

  (iii) Rs. 1,20,000 6% debentures. 

 (b) The goodwill which stood Rs. 6,00,000 was written 
down to Rs. 3,00,000 

 (c) Plant and machinery were written down Rs. 40,000 
and Rs. 60,000 respectively pass. 

  Give journal entries. 

 A¼m J¨¦uÀ AÎzx ©õØÔ Aø©UP¨£mh vmh® 
¤ßÁ¸©õÖ  

 (A) 1,00,000 ¹. 10 £[SPøÍ £[SuõμºPÒ 
øÁzxÒÍõºPÒ AuØS £v»õP AÁºPÒ ö£Ó 
C¸¨£x. 

  (i) AÁºPÒ øÁzv¸¨£vÀ 2/5US \©©õP 
•ÊÁx® ö\¾zu¨£mh \©£[SPÒ 

  (ii) ÷©ØTÔ¯ \©£[SPÎÀ 1/5 AÍÄUS 5% 
•ßÝ›ø© £[SPÒ 

  (iii) 6% Phß£zvμ[PÎß ©v¨¦ ¹. 1,20,000 

 (B) ¹. 6,00,000 ©v¨¦ÒÍ |ß©v¨¦ ¹. 3,00,000US 
SøÓUP¨£mhx. 

 (C) ö£õÔ ©ØÖ® Pmih® •øÓ÷¯ ¹. 40,000 ©ØÖ®  
¹. 60,000 SøÓUP¨£kQÓx. 

  SÔ¨÷£k £vÄPøÍ u¸P. 
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19. A company went into voluntary liquidation on 
30.04.2014. The Position of the company on that date 
were as follows. 

Liabilities Rs. Assets Rs. 

Share capital : 5,000 shares of 
Rs. 100 each Rs. 80 paid up 4,00,000

Machinery 80,000

Loans (secured by mortgage of 
machinery) 1,00,000

Other fixed 
assets 2,60,000

Unsecured creditors (including 
preferential creditors Rs. 10,000) 2,00,000

Stock 1,05,000

 Debtors 1,00,000

 Bill 
receivable 40,000

 Cash 5,000

 Profit and 
loss a/c 1,10,000

 7,00,000  7,00,000

 Machinery was realized y the secured creditors for  
Rs. 1,20,000. Other fixed assets realized Rs. 40,000, 
debtors Rs. 20,000 and stock Rs. 10,000. Bill receivable 
were wholly dishonoured. The liquidator is entitled to a 
fixed remuneration of Rs. 1000 plus 2% of the amount 
paid to unsecured creditors. Liquidation expenses 
amounted to Rs. 1000. Prepare liquidator’s final 
statement of account. 

 J¸ {ÖÁÚ® 30.04.2014 AßÖ uõÚõP •ÚÁ¢x 
Pø»UP¨£mhx. Auß C¸¨¦ {ø»USÔ¨¦ RÌPshÁõÖ 
EÒÍx. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S •uÀ 5000 £[SPÒ ¹. 
100 Ãu® ¹. 80 ö\¾zv¯x 

 
4,00,000 

C¯¢vμ® 80,000

PhßPÒ(C¯¢vμ® ¤øn¯õP 
EÒÍx) 

 
1,00,000 

¤Ó{ø» 
ö\õzxUPÒ 2,60,000
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

¤øn¯ØÓ PhÜ¢÷uõº 
(•ßÝ›ø© PhÜ¢÷uõº ¹. 
10,000 ÷\º¢ux) 

 
2,00,000 

\μUQ¸¨¦ 1,05,000

  PhÚõÎPÒ 1,00,000

  ö£ÖuØS›¯ 
©õØÖ^mk 40,000

  öμõUP® 5,000

  C»õ£ |mh 
P/S 1,10,000

 7,00,000  7,00,000

 ¤ønU PhÜ¢÷uõº C¯¢vμzøu ¹. 1,20,000US ÂØÓÚº. 
¤Ó {ø»a ö\õzxUPøÍ ÂØÓvÀ ö£Ó¨£mhx ¹. 40,000 
PhÚõÎPÎhª¸¢x ¹. 20,000 \μUQ¸¨¦ ¹. 10,000 
Qøhzux ÁμÂØS›¯ ©õØÖ^mk AøÚzx® 
©ÖUP¨£mhÚ. Pø»¨£õÍ¸US {ø» Fv¯® ¹. 1000® 
¤øn¯ØÓ PhÜ¢÷uõºUS AÎUS® öuõøP°À 2%® ö£Ó 
E›ø©²sk Pø»¨¦ ö\»ÄPÒ ¹. 1000 Pø»¨£õÍ›ß 
CövUPnUS AÔUøP u¯õº ö\´P. 

20. Explain the various methods of valuation of human 
resources. 

 ©ÛuÁÍzvøÚ ©v¨¤k® £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E.)/B.Com.(CA)/ 
B.Com.(CA)(Lateral Entry) DEGREE EXAMINATION, 

DECEMBER 2024. 

Sixth Semester 

ENTREPRENEURSHIP DEVELOPMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL the questions. 

1. Expand : (a) SIDO (b) IFCI. 

 Â›ÁõUSP : (A) SIDO (B) IFCI. 

2. What is meant by opportunity analysis? 

 Áõ´¨¦ £S¨£õ´Ä £ØÔ AÔÁx GßÚ? 

3. What you mean by managerial feasibility? 

 ÷©»õsø© \õzv¯U TÖ £ØÔ }Âº AÔÁx GßÚ? 

4. State any two features of company. 

 {Ö©zvß H÷uÝ® Cμsk C¯À¦PøÍ u¸P. 

5. Define the term project. 

 vmh® GÝ® £uzøu Áøμ¯ÖUP. 

6. What is meant by marketing risk? 

 \¢øu°¯À Chº £ØÔ AÔÁx GßÚ? 

Sub. Code 
10263/12563/
12363/12863
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7. What you mean by small scale industries? 

 ]Ô¯ AÍÂ»õÚ öuõÈÀPÒ £ØÔ }Âº AÔÁx GßÚ? 

8. Give the meaning of innovation. 

 ¦xø©°ß ö£õ¸øÍU öPõk. 

9. Write note on family enterprises. 

 Sk®£ {ÖÁÚ[PÒ £ØÔ SÔ¨¦ GÊxP. 

10. What is industrial sickness? 

 öuõÈÀxøÓ |¼ÁøhuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) State the characteristics of entrepreneurship. 

  öuõÈÀ•øÚu¼ß ]Ó¨¤¯À¦PøÍ u¸P. 

Or 

 (b) Briefly explain the challenges faced by women 
entrepreneurs. 

  ö£s öuõÈÀ•øÚ÷Áõº GvºöPõÒÐ® \ÁõÀPøÍ 
_¸UP©õP ÂÍUSP. 

12. (a) What are the phases of feasibility study? Explain. 

  \õzv¯UTÖ B´Âß £i{ø»PÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) List out the objectives of plant layout. 

  öuõÈØ\õø» Aø©¨¤ß ÷|õUP[PøÍ £mi¯¼kP. 

13. (a) Bring out the characteristics of project appraisal. 

  vmh ©v¨¥miß ]Ó¨¤¯À¦PøÍ öÁÎUöPõnºP. 

Or 
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 (b) Describe briefly the purpose of project report. 

  vmh AÔUøP°ß ÷|õUPzøu _¸UP©õP ÂÁ›UP.  

14. (a) What are the factors affecting small scale 
industries? 

  ]Ö öuõÈÀPøÍ £õvUS® PõμoPÒ ¯õøÁ? 

Or 

 (b) State the importance of creativity. 

  £øh¨£õØÓ¼ß •UQ¯zxÁzøuU TÖP. 

15. (a) What are the reasons for industrial sickness? 

  öuõÈÀxøÓ |¼ÁøhÁuØPõÚ Põμn[PÒ ¯õøÁ? 

Or 

 (b) Briefly explain the nature of Self Help Groups. 

  _¯ EuÂU SÊUPÎß ußø©ø¯ _¸UP©õP 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the functions of an entrepreneurship. 

 J¸ öuõÈÀ•øÚ÷Áõ›ß £oPøÍ ÂÁ›UP. 

17. Explain in detail the different types of company. 

 {Ö©zvß £À÷ÁÖ ÁøPPøÍ Â›ÁõP ÂÍUSP. 

18. Enumerate the characteristics of a successful business 
plan. 

 J¸ öÁØÔPμ©õÚ ÁoPz vmhzvß ]Ó¨¤¯À¦PøÍU 
PnUQkP. 
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19. Discuss the benefits and limitations of small scale 
entrepreneurs. 

 ]Ô¯ AÍÂ»õÚ öuõÈÀ•øÚ÷Áõ›ß |ßø©PÒ ©ØÖ® 
SøÓ£õkPøÍ¨ £ØÔ ÂÁõvUP. 

20. What are the advantages and disadvantages of 
franchising? Explain. 

 E›ø©°¯¼ß |ßø© ©ØÖ® wø©PÒ ¯õøÁ? ÂÍUSP. 

  

———————— 
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DISTANCE EDUCATION 

B.Com./ B.Com.(Lateral Entry) DEGREE EXAMINATION, 
DECEMBER 2024. 

Sixth Semester 

MANAGEMENT INFORMATION SYSTEM 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define information strategy. 

 uPÁÀ ²Uvø¯ Áøμ¯ÖUP. 

2. Define semi-structured decisions. 

 £õv Pmhø©UP¨£mh •iÄPøÍ Áøμ¯ÖUP. 

3. What is the use of condition alternatives? 

 {£¢uøÚ ©õØÖPÎß £¯ß£õk GßÚ? 

4. List out the objectives of system design. 

 PoÛ ÁiÁø©¨¤ß ÷|õUP[PøÍ £mi¯¼kP. 

5. What is outsourcing? 

 AÄm÷\õº][ GßÓõÀ GßÚ? 

6. Expand : (a) OOD (b) DSS. 

 Â›ÁõUSP :(A) OOD (B) DSS. 

Sub. Code 
10264/12564
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7. Who has classified management levels into top, middle 
and lower levels? 

 ÷©»õsø© {ø»PøÍ ÷©À, |kzuμ ©ØÖ® RÌ {ø» GÚ 
ÁøP¨£kzv¯Áº ¯õº? 

8. What do you mean by online trading? 

 Cøn¯ÁÈ ÁºzuP® £ØÔ }Ãº AÔÁx GßÚ? 

9. What are the two categories of data security measures? 

 uμÄ £õxPõ¨¦ |hÁiUøPPÎß Cμsk ¤›ÄPÒ ¯õøÁ? 

10. What do you mean by IP spoofing? 

 I¤ ì§L¤[ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL the questions choosing either (a) or (b). 

11. (a) What are the functions of MIS? 

  MISCß £oPÒ ¯õøÁ? 

Or 

 (b) What are the physical components of MIS? 

  MISCß C¯ØTÖPÒ ¯õøÁ? 

12. (a) What are the advantages of using modular 
architecture in OOD? 

  OODCÀ öuõSv Pmhø©¨ø£¨ £¯ß£kzxÁuß 
|ßø©PÒ ¯õøÁ? 

Or 

 (b) Describe the significance of different behavioural 
theories. 

  £»uμ¨£mh |hzøu ÷Põm£õkPÎß 
•UQ¯zxÁzøu ÂÁ›UPÄ®. 
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13. (a) What factors need to be considered while 
implementing ERP? 

  ERPø¯ ö\¯À£kzx® ÷£õx P¸zvÀ öPõÒÍ 
÷Ási¯ PõμoPÒ ¯õøÁ? 

Or 

 (b) What are the benefits of B2B? 

  B2BCß |ßø©PÒ ¯õøÁ? 

14. (a) State the benefits of DSS. 

  DSSCß |ßø©PøÍU SÔ¨¤hÄ®. 

Or 

 (b) Distinguish between impact printers and non-
impact printers. 

  uõUP Aa_¨ö£õÔPøÍ²® £õv¨¤À»õu Aa_¨ 
ö£õÔPøÍ²® ÷ÁÖ£kzxP. 

15. (a) What ethical and legal issues may arise from the 
world of IS? 

  IS E»Qß C¸¢x GÆÁøP¯õÚ ö|Ô•øÓ ©ØÖ® 
\mh ]UPÀPÒ GÇ»õ®? 

Or 

 (b) Examine any five major types of competitive 
threats. 

  H÷uÝ® I¢x •UQ¯ ÁøP¯õÚ ÷£õmi 
Aa_ÖzuÀPøÍ Bμõ´P. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the categories of computers on the basis of 
performance, size and cost. 

 ö\¯ÀvÓß, AÍÄ ©ØÖ® Âø» BQ¯ÁØÔß 
Ai¨£øh°À PoÛPÎß ÁøPPøÍ ÂÁ›UPÄ®. 
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17. Discuss the stages involved in the conceptual design. 

 P¸zv¯À ÁiÁø©¨¤¾ÒÍ {ø»PøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

18. Explain the steps followed in the implementation of the 
ERP system. 

 ERP Aø©¨ø£a ö\¯À£kzxÁvÀ ¤ß£ØÓ¨£k® 
ÁÈ•øÓPøÍ ÂÍUSP. 

19. Explain the consumer models of e-commerce. 

 ªßÚÝ ÁoPzvß ~Pº÷Áõº ©õv›PøÍ ÂÁ›UPÄ®. 

20. Describe the various types of network topologies along 
with their merits and demerits. 

 £À÷ÁÖ ÁøP¯õÚ Áø»¨¤ßÚÀ Pmhø©¨¤øÚ 
AÁØÔß |ßø©PÒ ©ØÖ® wø©PÐhß ÂÁ›UPÄ®. 

  

———————— 


